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The following table shows the income and expenditure (in ¥ millions) of a certain Company during
the five years from 2018 - 2022, along with profit % and loss % incurred in all these years. Some
values are missing in the table (indicated by ') that you are expected to calculate if required.
Based on the data in the table, answer the questions that follow.

Year-wise Income, Expenditure and Profit/Loss of a Company

Year |Expenditure (in3 millions) | Income (in¥ millions) | Profit %(+) / Loss %()
2018 192 . +15%

2019 248 = s

2020 210 . +20%

202 - 359.6 :

2022 £ : -12%

Sub questions

Question Number : 1 Question Id : 87827021165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Profit in 2020 is % more than in 2018 :
(1) 56.76

(2) 44.98

(3) 45.83

(4) 59.82
Options :

87827083741. 1
87827083742. 2
87827083743. 3

87827083744. 4

Question Number : 2 Question Id : 87827021166 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n 2022, if the expenditure of company was 15% more as compared to 2019, then the income of the
company in 2022 was (in < million) :

(1) 250976

(2) 248.976

(3) 250936

(4) 230.936
Options :
87827083745. 1
87827083746. 2
87827083747. 3

87827083748. 4

Question Number : 3 Question Id : 87827021167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[£ the loss incurred by the Company in 2019 was ¥33.2 million more than the profit of the Company
in 2018, then the loss percent incurred by the Company in 2019 was :

) 17%
) 2%
) 25%
) 23%
Options :
87827083749. 1
87827083750. 2
87827083751. 3

87827083752. 4

Question Number : 4 Question Id : 87827021168 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n 2021, if the profit percent (%) of the company was higher by 60% of the profit percent (%) in
2018, then the percent increase (approximately) in the expenditure of the Company in 2021 as
compared to the previous year would be :

1) 4%
Q) H%
(3) 41%
@) 38%
Options:

87827083753. 1
87827083754. 2
87827083755. 3

87827083756. 4

Question Number : 5 Question Id : 87827021169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What is the average of the income of the Company in 2018 and 2020 (in < million) ?
1) 2208
) 2364
3) 2522
4)  246.6

2

— — |

Options :

87827083757. 1
87827083758. 2
87827083759. 3
87827083760. 4



Question Id : 87827021164 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 87827021165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

2020 H B3 &9 2018 & &9 § fehdd % Af¥eh g2

(1) 56.76
(2) 44.98
(3) 45.83
(4) 59.82

Options :

87827083741.1



87827083742. 2
87827083743. 3

87827083744. 4

Question Number : 2 Question Id : 87827021166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827083745. 1
87827083746. 2
87827083747. 3

87827083748. 4

Question Number : 3 Question Id : 87827021167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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87827083749. 1
87827083750. 2
87827083751. 3

87827083752. 4

Question Number : 4 Question Id : 87827021168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083753. 1
87827083754. 2
87827083755. 3

87827083756. 4

Question Number : 5 Question Id : 87827021169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 2208
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(3) 2522
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Options :



87827083757. 1
87827083758. 2
87827083759. 3

87827083760. 4

Sub-Section Number : 2
Sub-Section Id : 878270942
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827021170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The organised bodies of information stored in memory that bias the way new information is
interpreted, stored, and recalled is known as

(1)  Constructive process
) Schemas
3)  Chunks
)

Association
Options :
87827083761. 1
87827083762. 2
87827083763. 3
87827083764. 4

Question Number : 6 Question Id : 87827021170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827083761. 1
87827083762. 2

87827083763. 3
87827083764. 4

Question Number : 7 Question Id : 87827021171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the components of pedagogical analysis of teaching and learning ?
(A) Objective formulation

(B) Selection of teaching methods and materials

(C) Content analysis

(D) Selection of evaluation devices

Choose the correct answer from the options given below :
(1) (B), (€)and (D) Only

() (A) and (D) Only
(3) (A) () (C)an (D)
(4) (B)and (C) Onl
Options :

87827083765. 1
87827083766. 2

87827083767. 3



87827083768. 4

Question Number : 7 Question Id : 87827021171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083765. 1
87827083766. 2
87827083767. 3

87827083768. 4

Question Number : 8 Question Id : 87827021172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  In teacher centred learning the teacher gives up the traditional decision making
role and chooses instead the role of a facilitator who focuses on students feelings.

Statement I In learner centred method the teacher attempts to see the world as the students
see it, creating an atmosphere of empathetic communication.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are correct
2

2
(3) Statement I is correct but Statement I is incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II is correct
Options:

878270837609. 1

87827083770. 2

87827083771. 3

87827083772. 4

Question Number : 8 Question Id : 87827021172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083769. 1
87827083770. 2
87827083771.3

87827083772.4

Question Number : 9 Question Id : 87827021173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  Theability o generate unusual, yet appropriate, responses to problems or questions
15 known as convergent thinking,

Statement IT :  The ability to produce responses that are based primarily on knowledge and logic
is known as divergent thinking,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are correct
2

2
(3) Statement I is correct but Statement I is incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II is correct
Options:

87827083773. 1

87827083774. 2

87827083775. 3

87827083776. 4

Question Number : 9 Question Id : 87827021173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083773. 1
87827083774. 2
87827083775.3

87827083776. 4

Question Number : 10 Question Id : 87827021174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : No test provides a perfect picture of a student's abilities and skills.
Reason (R) : A test s only one small sample of a student's performance,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct
(4) (A)is not correct but (R) is correct

Options:

87827083777. 1

87827083778. 2

87827083779. 3

87827083780. 4

Question Number : 10 Question Id : 87827021174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827083777.1
87827083778. 2
87827083779. 3

87827083780. 4

Question Number : 11 Question Id : 87827021175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An epistemological position that advocates the application of the methods of the natural sciences
to the study of soctal reality and beyond, refers to

(1) Positivism

2)  Interpretivism
3)  Objectivism

)

(
(
l

Constructionism
Options :
87827083781. 1
87827083782. 2
87827083783. 3

87827083784. 4

Question Number : 11 Question Id : 87827021175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827083781. 1
87827083782. 2
87827083783. 3
87827083784. 4

Question Number : 12 Question Id : 87827021176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the similarities between quantitative and qualitative research :
(A) Both are concerned with data reduction.

(B) Both are concerned with variation in data.

(C) Both lay emphasis on contextual understanding,

(D) Both lay emphasis on generalization.

(E) Both are concerned with answering research questions.

Choose the correct answer from the options given below :

(1) (A) and (D) Only

(2) (A), (B), (D) and (E) Only
(3) (B) (D) and (E) Only

(4) (A), (B) and (E) Only
Options :

87827083785. 1

87827083786. 2



87827083787. 3
87827083788. 4

Question Number : 12 Question Id : 87827021176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083785. 1
87827083786. 2
87827083787.3

87827083788. 4

Question Number : 13 Question Id : 87827021177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dentify the correct reasons for writing a literature review :
A) You need to know what is already known in connection with your research area.

I

(

(B) It may help you to develop an analytic framework.
(C) It will help with the interpretation of your findings.
(D) It may suggest further research questions for you.

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (B), (C) and (D) Only
(3) {A) () and (D) Only
(4 (4), (B) () and (D)
Options:

87827083789. 1
87827083790. 2
87827083791. 3

87827083792. 4

Question Number : 13 Question Id : 87827021177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083789. 1

87827083790. 2

87827083791. 3
87827083792. 4

Question Number : 14 Question Id : 87827021178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the sampling issues that are problematic in online surveys :
(A) Many people use more than one internet service provider.

(B) Every person has only one (unique) email address.

(C) A house hold may have one computer but several users.
(D) Internet users are a biased sample of the population.
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2)  (B), (C) and (D) Only
(3) (A), (B)and (D) Only
(4)  (A), (C) and (D) Only
Options:

87827083793. 1
87827083794. 2
87827083795. 3

87827083796. 4

Question Number : 14 Question Id : 87827021178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083793. 1
87827083794. 2
87827083795. 3

87827083796. 4

Question Number : 15 Question Id : 87827021179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following is an open source software for data analysis ?
(1) SPSS

(2) MATLAB
3) R

(4) MINITAB
Options :
87827083797. 1
87827083798 2

87827083799. 3



87827083800. 4

Question Number : 15 Question Id : 87827021179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083797. 1

87827083798. 2

87827083799. 3

87827083800. 4

Question Number : 16 Question Id : 87827021180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

When the primary function of communication is to convey new information, it is known as
1) Subliminal function

8 Single task function
(3) Referential function
(4) Differential function
Options :
87827083801. 1
87827083802. 2

87827083803. 3



87827083804. 4

Question Number : 16 Question Id : 87827021180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827083801. 1
87827083802. 2
87827083803. 3

87827083804. 4

Question Number : 17 Question Id : 87827021181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

One of the four maxims of conversation, quantity maxim, reflects the right amount of :
(1) Paradigms

(2) Syntagms

(3) Similes
(4) Information
Options :
87827083805. 1
87827083806. 2

87827083807. 3



87827083808. 4

Question Number : 17 Question Id : 87827021181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083805. 1
87827083806. 2
87827083807. 3

87827083808. 4

Question Number : 18 Question Id : 87827021182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following contextual factors determine meaning in communication behaviour ?
A)  Physical locafion

B) Participants

(
(
(C) Preceding events
(D) Nonfunctional goals
(E) Absence of audience

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

() (B), (C) and (D) Only
() (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

87827083809. 1
87827083810. 2
87827083811. 3

87827083812. 4

Question Number : 18 Question Id : 87827021182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827083809. 1
87827083810. 2
87827083811.3

87827083812. 4

Question Number : 19 Question Id : 87827021183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following belong to the field of proxemics in communication ?
(A) Facial expressions
(B) Crowding
(C) Territoriality
(D) Personal space

(E) Eye contact

Choose the correct answer from the options given below :
(1) (A), (B) and () Only

(2)  (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4) (A) (D) and (E) Only
Options:

87827083813. 1
87827083814. 2
87827083815. 3
87827083816. 4

Question Number : 19 Question Id : 87827021183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafad # 9 -9 =R 4 gHe fomn & &5 9 et € 2

(A) HEH FEE

(B) fe-wre

(C) YIewiHa

(D) SAfemTd &

(E) =g Hh

i feu 1 fosedl ° 9 WEr I F T FifC:

(1) < (A), (B) 3T (C)

(2) 94 (B), (C) 3 (D)

(3) < (C), (D) SR (E)

(4) I (A), (D) 3R (E)
Options :

87827083813. 1
87827083814. 2
87827083815. 3

87827083816. 4

Question Number : 20 Question Id : 87827021184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : - According to Buddhism, linguistic communication should be used to adopt moral
stance.

Statement (1) : Critical introspection is not preferred by Buddhists as part of intra-personal
communication.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I is correct but Statement I1 is incorrect.
4

Both Statement [ and Statement II are incorrect.

Statement [ s incorrect but Statement II is correct.
Options:

87827083817. 1

87827083818. 2

87827083819. 3

87827083820. 4

Question Number : 20 Question Id : 87827021184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g A fem E:
HL: A o o R, ST SR 1 e A 9 A i o o o frn o e

TR A 2 ST e & sl don o e & w0 o oo 7 & 9
2l

T O o i , A fou T ol ¥ 9 W S 9 @i
(1) B HR I T2

(2) TR B IS o €

() FRITA §, o w11 9 2|

(4) TR R 3, T R 1 2



Options :

87827083817. 1
87827083818. 2
87827083819. 3
87827083820. 4

Question Number : 21 Question Id : 87827021185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n an arithmetic series having 50 terms, the first and last terms are 3 and 199, respectively, What is
the sum of the series ?

(1) 4950
Q) 3050
B) 5150
@) 4850

H=

Options:

87827083821. 1
87827083822. 2
87827083823.3

87827083824. 4

Question Number : 21 Question Id : 87827021185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

50 Vel el T e et H Jom o St 08 A 3 AT 199 € 36 Sl & AW # g
(1) 4950
(2) 5050
(3) 5150
(4) 4850



Options :

87827083821. 1
87827083822. 2
87827083823. 3
87827083824. 4

Question Number : 22 Question Id : 87827021186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the next term (?) in the following letters series AM, GJ, MG, SD, 7, ...
(1) XZ

Options:

87827083825. 1
87827083826. 2
87827083827.3
87827083828. 4

Question Number : 22 Question Id : 87827021186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fe S1ar Sf@el § el Ug (?) o1 vl @ |
AM, G] MG, SD, , ..oovme.

(1) XZ
(2) YC
(3) XA
(4) YA



Options :

87827083825. 1
87827083826. 2
87827083827.3
87827083828. 4

Question Number : 23 Question Id : 87827021187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum and difference of two numbers are 19 and 7, respectively. What is the sum of their
squares ?

) 190
) 200
) 205
) 210

3

1
2
k
(4
Options:

87827083829. 1
87827083830. 2
87827083831.3

87827083832. 4

Question Number : 23 Question Id : 87827021187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T HET AN T SR FH: 19 SR 7 § 1 37H G H AT F R ?
(1) 190
2) 200
3) 205
)

(
(
(4) 210



Options :

87827083829. 1
87827083830. 2
87827083831. 3
87827083832. 4

Question Number : 24 Question Id : 87827021188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A certain sum of money doubles in 4 years at a compound rate of interest per annum. The rate of

interest is [Given ; 2/2 = 1414, 2/ = 1.1892)

1) ~149%

Q) ~168%
3) ~189%
(4

S |

) ~12.9%
Options:
87827083833. 1
87827083834. 2
87827083835. 3

87827083836. 4

Question Number : 24 Question Id : 87827021188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T S Y TG R AN H RANT AT G ARG
[9&T : 21/2 =1414, 21/4=1.189)]

(1) ~149%

() ~168%
(3) ~189%
[4) ~12.9%
Options:
87827083833. 1
87827083834. 2
87827083835. 3
87827083836. 4

Question Number : 25 Question Id : 87827021189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A train moving at a speed of 63 kmy/hr enters a railway station and crosses the platform in 20 s,
If the length of the train is 100 m, what is the length of the platform ?

1) B0m
2 Mm
3 B0m
4 30m

Options :

87827083837. 1
87827083838. 2
87827083839. 3
87827083840. 4

Question Number : 25 Question Id : 87827021189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

63 F 7/ T 0 T8 O S T A W o € 4R e 6 208, 5 R
?Ihiamaaﬁaamoﬁaé,wmﬁmﬁmﬂ?
150 Fiet

Options :

87827083837. 1
87827083838. 2
87827083839. 3

87827083840. 4

Question Number : 26 Question Id : 87827021190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per square of opposition which of the following propositions are so related that if one of them
is true, the other must be false and vice-vessa ?

(A)  All mammals are vertebrates,

(B) No mammals are vertebrates.

(C) Some non mammals are not vertebrates.

(D) Some mammals are not vertebrates.

Choose the correct answer from the options given below :
o) (¢ ()Onlv

@) (4and (O)On

(3) (A)and (B) Only

(4) Q) and (D) Only

Options :

87827083841. 1



87827083842. 2
87827083843. 3

87827083844. 4

Question Number : 26 Question Id : 87827021190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fet o S 8 9§ 9 o1 50 e e € o 7 4 O 9 € 7 G e
9 T A fefe €7

(A) W we BE) 2 2

(B) S o TR e ) 2 ¢

(C) F8 - W] 74l 20 ¢

(D) 3 WA el 7 4 €

A fou o foredl ¥ 0 W@ S A T A
(1) 9 (&) 3R (D)

) ¥ (4) & (C)

() (4) o (B

() ¥ () D)

Options :

87827083841. 1
87827083842. 2
87827083843. 3
87827083844. 4

Question Number : 27 Question Id : 87827021191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent ?
(A) No liquids are beverages.

(B) No beverages are liquids.
(C) All non-beverages are non-liquids.
(D) All non-liquids are non-beverages.
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (A)and (C) Only
(3) (B) and (D) Only
(4) (C) and (D) Only
Options:
87827083845. 1
87827083846. 2
87827083847. 3

87827083848. 4

Question Number : 27 Question Id : 87827021191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=1 5 9 o9 | FeF aifthe 99 979 € 2
(A) FIE it T T wered T B

(B) hrs i U UeTe TR &I B ¢

(C) Gsft R-U7 yered IR-A B B |

(D) B\eft TR-a 1R-97 uered & B

9 fau Tu fasredl § 9 WEr ST 1 =TT HIfC:
(1) =had (A) TR (B)

(2) HFA (A) 3R (Q)
(3) ad (B) ¥R (D)
(4) FEE (C) R (D)
Options :

87827083845. 1
87827083846. 2
87827083847. 3
87827083848. 4

Question Number : 28 Question Id : 87827021192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the statement “Some rectangles are not squares” is given as true, then according to the square of
opposition which of the following statements can by immediately inferred to be false ?

(1) All rectangles are squares,

(2) Some rectangles are squares,

(3)  No rectangles are squares.
e

4)  Some squares are not rectangles.
Options :
87827083849. 1
87827083850. 2



87827083851. 3

87827083852. 4

Question Number : 28 Question Id : 87827021192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 TR 59 9 T A0 ¢ 9 6 WA IR ¢ foe o o g e 4§ fom A 9
TR A ST fo o el )

(1) 6 o B

) T3 g E

() 4 o o 7 2 2
(4) 8 T 9 TR 2 ¢

Options :

87827083849. 1
87827083850. 2
87827083851. 3

87827083852. 4

Question Number : 29 Question Id : 87827021193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"More laws have been added on the books in past five years than ever before, yet the number of
crimes committed during the same period has significantly increased. Therefore, to bring the crime
tate down, we must eliminate the laws”. Which fallacy is committed in the above statement ?

(1) Red herring

2) Straw man

3)  Slippery slope
4)  False cause

(
(
(



Options :

87827083853. 1
87827083854. 2
87827083855. 3

87827083856. 4

Question Number : 29 Question Id : 87827021193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"o e o e f e o el e s e e 0 ety i e 6 S e
1 5 I 9 3 19 A A o o e o e | S

Options:

87827083853. 1
87827083854. 2
87827083855. 3

87827083856. 4

Question Number : 30 Question Id : 87827021194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : - According to classical Indianschool of logic(Nyiya) the argument “Sound s eternal
because it is audible” is fallacious.

Statement (1) : According to classical Indian school of logic the argument “Sound is eternal
because it is audible” commits the fallacy of irregular middle term where the
middle term is too wide.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct,
2

(2) Both Statement I and Statement IT are incorrect.
(3) Statement 1 is correct but Statement I1 is incorrect
4

4)  Statement I is incorrect but Statement II is correct,

Options:

87827083857. 1
87827083858. 2
87827083859. 3
87827083860. 4

Question Number : 30 Question Id : 87827021194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 ) A foU T
WO 1: ST A P o o o 3 e & i 7 e e 9 e ¢

FURI1: T IR 27 7 & R e IV & i 7% 9 ¢ 4 e 04
Y ¢ 7 99 G o4 oA

TS B % e H, el o0 T o] A 9 R SR A
(1) TR TR T

() 1R HR IS o £

) FMIT §, et Ho 11 00 21

) TR A £, o o 1L 2

Options :

87827083857. 1

87827083858. 2

87827083859. 3

87827083860. 4

Question Number : 31 Question Id : 87827021195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In comparison to secondary computer storage, primary storage is :
(1) Slower, more expensive per unit of storage and persistent
(2) Faster, less expensive per unit of storage and persistent
(3) Faster more expensive per unit of storage and not persistent
(4) Faster, less expensive per unit of storage and not persistent
Options :

87827083861. 1

87827083862. 2

87827083863. 3

87827083864. 4



Question Number : 31 Question Id : 87827021195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fgdiorer HogeX JYeRU &1 qor §, Wi ser
(1) e, wfg e dero sifier weien ik gad € S
(2) i, 9fd gfe sieru F9 weien SR gaqd g §|
(3) g, fd e sierw sifusw wiien IR gad =& e g1
(4) =, 9fd gfe vero w9 Gt IR gad & e ¢ |
Options :
87827083861. 1
87827083862. 2

87827083863. 3
87827083864. 4

Question Number : 32 Question Id : 87827021196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A security system records video footage. One minute of video requires 180 MegaBytes of storage.
The recording system can store several hours of video footage. How much storage would be needed
for 2 hours of video footage ? (1k =1024) :

(1) 192 Giga Bytes
(2) 203 Giga Bytes
(3) 211 Giga Bytes
(4) 224 Giga Bytes
Options:

87827083865. 1
87827083866. 2

87827083867. 3



87827083868. 4

Question Number : 32 Question Id : 87827021196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T U T el ey () e e €1 O e ol f T st 190 e
SR it 1 e o o W2 3 o o s o T §12.98 % e 3 faw
fo e T A SR 27 (1k=1024)

1) 192 TeEe
) 203 ek
) 211 TR
) 204 TIREE

Options :

a2

(
2
g
(4

87827083865. 1
87827083866. 2
87827083867. 3

87827083868. 4

Question Number : 33 Question Id : 87827021197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
If (P)g represents the number P in base - 8, then (144)s + (175)q =

(1) (225)4
(2) (341)g
(3)  (441)
(4) (314)q
Options :

87827083869. 1



87827083870. 2
87827083871. 3

87827083872. 4

Question Number : 33 Question Id : 87827021197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g (P)g 99 - 8 H P =l T €, dI(144)g + (175)g =

(1) (225)g
(2) (341)4
(3) (441)g
(4) (314)g
Options :

87827083869. 1
87827083870. 2
87827083871. 3
87827083872. 4

Question Number : 34 Question Id : 87827021198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : IPv6 address in computer networking is 4 times larger than an [Pv4 address

Statement (I1) : The IP address gives the location of a device on the Internet, whereas the MAC
address identifies the device connected to the Internet

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct,
2
3
(4

) Both Statement I and Statement II are incorrect.
) Statement I is correct but Statement 11 15 incorrect.
)

Statement I is incorrect but Statement II is correct,

Options:

87827083873. 1
87827083874. 2
87827083875. 3
87827083876. 4

Question Number : 34 Question Id : 87827021198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g A ferm E:

WO (1) O Yo [Pvd T 1 T [Pt TS 4 T 991 2 ¢

®OA (1) [P UG 20 W fo 97 ) afiefs Ve 0 € 0% MAC U TR 8§ e A
Rl 4 £

TS 9 35 e A, A for T fovedt 2 W A

(1) B HR I T2

(2) TR B IS o €

() FRITA §, o w11 9 2|

(4) TR R 3, T R 1 2



Options :

87827083873. 1
87827083874. 2
87827083875. 3

87827083876. 4

Question Number : 35 Question Id : 87827021199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Match List - T with List - IL

List - I List - II
(Graphical User Interface Term) (Description)
(A) Window () Represents a folder or a progtam - can be seen
within a window or free standing on screen
(B) Icon () Contains lists of options for a certain program
(C) Menu () Used toselect menu options/icons/ close/open
windows
(D) Pointer (IV) Represents an area on the screen that displays

information for a specific program
Choose the correct answer from the options given below :

(1) (AR, (BMD (CH{ID, DHIV)
) (BHIV), (CA

(2) (Al ) (DA
(3) (ARIV), (BHD) (CHID), (DM
(4 (AMT), (B)-{), (CHLV), (DHI)
Options:

87827083877. 1
87827083878. 2
87827083879. 3

87827083880. 4



Question Number : 35 Question Id : 87827021199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl § 11 91 o aifee;

Tl Tl
(T3 TeleRT SIS ) (o)

1) fig () T 4o T 51 291 € - ffg) o e afee o
R 9 8 9 9 ¢

B & (1) 39 forh T &g e 1 et €

0 W (1) 38 T ¥, frey e el e el o 7
o foe fon s &1

D) &R (IV) B T & e ot & o o o feo
) & &

At few T foedl o 9 T I 9 A

(1) (AW, (B0, (CHID, (DHIV

(2) (AKD), (B-V), (CHI), (DA

(3) (ANIV), (B, (CHI). (DA

(4 (AKD, B}0, (O4IV), (DA

Options :

87827083877. 1
87827083878. 2
87827083879. 3

87827083880. 4

Question Number : 36 Question Id : 87827021200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are true about Producer Gas ?
A) Ttis the result of conversion of solid biomass into gaseous fuels.

(
(B) Itis done at lower temperature.

(C) It can be used as fuel in internal combustion engines.

(D) Itis produced in the complete absence of oxygen.

(E) Hydrogen and methane present in Producer Gas determine its heating value.
Choose the correct answer from the options given below :

(1) (4), (B)and (C) Only

(2)  (B)and (D) Only
(3) (C), (D)and (E) Only
(4) (), (C)and (E) Only
Options:

87827083881. 1
87827083882. 2
87827083883. 3

87827083884. 4

Question Number : 36 Question Id : 87827021200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e T & A | Fretfeted § & PH-9 98§

(A) 7 3 99 Tefa ¢ et fom & Wi 7 ¥iowd g

(B) @ UM R ol ST €

(C) 3w WA STk Cg 3919 W 38 o %Y ¥ fohel & el € |

(D) 8 aieier o forl e foen 1l &1

(F) e g ¥ suftery/fed areion oiR o e o fruifid &% €
A fou e foredl H 9 W& I T FIC

{ (A), (B) & (C)
2

3
(

)
)
)
4)
Options:

87827083881. 1
87827083882. 2
87827083883. 3

87827083884. 4

Question Number : 37 Question Id : 87827021201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The convention on biological diversity is dedicated to promote sustainable development conceived
as a practical tool for translating the principles of :

(1) Agenda 20
(2) Agenda2]
(3) Agenda 22
(4) Agenda 23

Options :

87827083885. 1



87827083886. 2
87827083887. 3

87827083888. 4

Question Number : 37 Question Id : 87827021201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e fafaem e fe fagi ) wrfen < & fod oo / fTes e & %9 4 e
T foe 1 9 ¢  felt Wi 7

()

) g
() A 2
) B
Options :

87827083885. 1
87827083886. 2
87827083887. 3

87827083888. 4

Question Number : 38 Question Id : 87827021202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the correct sequence of steps followed from initial to last during water treatment process ?
(A) Coagulation

(B) Filtration

(C) Screening

(D) Sedimentation

Choose the correct answer from the options given below :

(1) 0)©) B) (4)

2) (D) (), (&) ()
3 (€. 0) ) 6)
(4) (O O) (B), (&)
Options:

87827083889. 1
87827083890. 2
87827083891. 3

87827083892. 4

Question Number : 38 Question Id : 87827021202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T S Y o U SR T et e o e (e ) afem) o o s

(A) e

B) e

(€)

D)

A fe 0 feeredl o WY O A T @i
(1) () (©) (B) (A)

2 (D) (©) )@

3) (© ) (A) B

4 (© ) B) (A)



Options :

87827083889. 1
87827083890. 2
87827083891. 3
87827083892. 4

Question Number : 39 Question Id : 87827021203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : DDT bioaccumlates in tissues of many species including humans.
Reason (R) :  DDT is relatively insoluble in water but readily soluble in fats and ofs.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct
4

4)  (A)is not correct but (R) is correct

Options:

87827083893. 1
87827083894. 2
87827083895. 3

87827083896. 4

Question Number : 39 Question Id : 87827021203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083893. 1

87827083894. 2

87827083895. 3

87827083896. 4

Question Number : 40 Question Id : 87827021204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements ;

Statement (1) : Millennium Development Goals (MDGs) were mainly targeted at developing or
poor countries.

Statement (I1) : Sustainable Development Gaols (SDGs) are targeted at all countries whether
developed, developing or poor.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect,
(3) Statement I is correct but Statement I1 is incorrect.
(4)  Statement I is incorrect but Statement I1 is correct.

Options :



87827083897. 1
87827083898. 2
87827083899. 3

87827083900. 4

Question Number : 40 Question Id : 87827021204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083897. 1

87827083898. 2

87827083899. 3

87827083900. 4

Question Number : 41 Question Id : 87827021205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following was recommended by the Hunter Commission ?

(1)  Abolition of higher education in India

(2) Restricting women's entry into colleges

(3) Participation of private enterprise in higher education

(4) Encouraging establishment of more and more public universities in rural India
Options:

87827083901. 1

87827083902. 2

87827083903. 3

87827083904. 4

Question Number : 41 Question Id : 87827021205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

B AT B @ fw o)
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Options :

87827083901. 1

87827083902. 2

87827083903. 3
87827083904. 4

Question Number : 42 Question Id : 87827021206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The University of Punjab was established at lahore in 1882 to reduce the burden of the university
of :

) Bombay
) Calcutta
) Madras
) Himachal Pradesh

1
2
3
(4
Options:

87827083905. 1
87827083906. 2
87827083907. 3

87827083908. 4

Question Number : 42 Question Id : 87827021206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

1233

Options :

87827083905. 1
87827083906. 2
87827083907. 3
87827083908. 4

Question Number : 43 Question Id : 87827021207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Which of the following steps were taken by the university grants commission during the second
five year plan?
[ntroduction of three-year degree course
B) Improvement in libraries and laboratories

D) No new departments were approved in the universities

(

(

(C) Increase in the salaries of universiry teachers
(

E

—

Hindi was made the optional medium of instruction besides local languages in all Indian
universities
Choose the correct answer from the options given below :

(1) (&), (B) and (C) Only
(2)  (B), (C) and (D) Only
) (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

878270839009. 1
87827083910. 2
87827083911. 3

87827083912. 4

Question Number : 43 Question Id : 87827021207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083909. 1

87827083910. 2

87827083911. 3

87827083912. 4

Question Number : 44 Question Id : 87827021208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following research institutes were established between the first and third five year
plans ?

(A) Indian Institute of Science

(B) Saha Institute of Nuclear physics

(C) Lok Bharati

(D) Gandhi Gram Rural Institute

(E) Raman Research Institute

Choose the correct answer from the options given below :
(1) (), (B)and (C) Only

(2) (A), (D) and (E) Only

(3) (B),(C) and {£) Only

(4) (8)(C)and (D) Ony

Options :

87827083913. 1
87827083914. 2
87827083915. 3
87827083916. 4

Question Number : 44 Question Id : 87827021208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827083913. 1
87827083914. 2
87827083915. 3

87827083916. 4

Question Number : 45 Question Id : 87827021209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : The Nalanda University of ancient India attracted students from various parts of
Asia,

Statement (II) : The Nalanda University was overshadowed by the universities in Europe and
Arabia immediately after its establishment.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I is correct but Statement I1 is incorrect.
4

Both Statement [ and Statement II are incorrect.

Statement [ s incorrect but Statement II is correct.
Options:

87827083917. 1

87827083918. 2

87827083919. 3

87827083920. 4

Question Number : 45 Question Id : 87827021209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083917. 1
87827083918. 2
87827083919. 3
87827083920. 4

Sub-Section Number : 3
Sub-Section Id : 878270943
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827021210 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage carefully and answer the questions :

The most important part of a person’s life is his childhood. The learning our young citizens receive
at home, in school and in society between the ages of five and sixteen will shape them for the rest
of their Lives. during this phase, they need a good value based education to become enlightened
human beings.

Parents and teachers need to have an integrated mission : education with a good value system at
home and in school. Education is fundamental to building the nation of our dreams. All our
aspirations as a society are tied to the capabilities of our youngsters, who form such a large part of
our population.

A child's individuality and creativity need to be given due importance in our education. The
curriculum needs to be mnovative and the examination system overhauled so that it recognizes
and evaluates creativity and new thinking rather than the memorization of facts. Schools must
move away from being centres of education alone, instead becoming centres of knowledge and
skill development.

Sub questions

Question Number : 46 Question Id : 87827021211 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A child becomes an enlightened human being as a result of the value based education received ;
(A) At home only

(B) Inschool only

(C) At home, in school and in society
(D) Insociety only

(E)  Between the ages of five and sixteen

Choose the correct answer from the options given below :
(1) (4) &(E) Only

2 WDk ()Only
) ()& (E)Onl

4 (A& ()OHIY
Options :

87827083921. 1
87827083922. 2
87827083923. 3
87827083924. 4

Question Number : 47 Question Id : 87827021212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is essential for building the nation of our dreams ?
(1) More schools
Value based education

—
L3 D
e

(
(

Options:

) Democracy
) Rapid Urbanization

=

87827083925. 1

87827083926. 2



87827083927. 3

87827083928. 4

Question Number : 48 Question Id : 87827021213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Who need to have an integrated mission : education with a good value system at home and in
school ?

(1) Politicians

(2) Philanthropists

(3) Parents and Teachers
(4)  Businessmen
Options:
87827083929. 1
87827083930. 2
87827083931. 3

87827083932. 4

Question Number : 49 Question Id : 87827021214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A good examination system should :

(A) Recognize a child’s creativity

(B) Recognize a childs individuality

(C) Encourage rote learning

(D) Encourage new thinking

Choose the correct answer from the options given below :
(1) (A), (B) & (D) Only

(2)  (B) & (C) Only

(3) (A), (B) & (C) Only
(4) (O & (D) Only
Options:

87827083933. 1
87827083934. 2
87827083935. 3
87827083936. 4

Question Number : 50 Question Id : 87827021215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [:  Schools should only be centres of education.
Statement IT:  Youngsters form a minimal part of our population.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect,
(3) Statement s correct but Statement I1 is incorrect.
(4)  Statement s incorrect but Statement 11 is correct
Options :

87827083937. 1



87827083938. 2
87827083939. 3

87827083940. 4

Question Id : 87827021210 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827021211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T a1 i 9 Fgl W Y R e T 0 o ey T YA T 9 ¢/
(A) oA

(B) et T H

(C) R, foerer o 9 el o

(D) e §HE |

(E) U4 3 Siete 3 1 7Y &

e feu T foepedt H 9 e S A T Hifw

(1) % (A) R )

2) 9 (A), (D) R (B

() ¥ (C) M (E)
(4) T (A) T (B)
Options :
87827083921. 1
87827083922. 2

87827083923. 3

87827083924. 4

Question Number : 47 Question Id : 87827021212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
AN @i o T o oo &g =1 § 9 @ afard €2
(1) 3R sferer femmmer

(2) HeasTHRd foret

(3) <Ihad

(4) ToIRd TR
Options :

87827083925. 1



87827083926. 2
87827083927. 3

87827083928. 4

Question Number : 48 Question Id : 87827021213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270839209. 1
87827083930. 2

87827083931. 3

87827083932. 4

Question Number : 49 Question Id : 87827021214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083933. 1
87827083934. 2
87827083935. 3
87827083936. 4

Question Number : 50 Question Id : 87827021215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083937. 1
87827083938. 2
87827083939. 3

87827083940. 4

Persian
Section Id : 878270681
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 878270944



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 87827021216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

L slis the oldest chapter of
ik -1
i -2

Ay g -3

Ly -4
Options:

87827083941. 1

87827083942. 2

87827083943. 3

87827083944. 4

Question Number : 51 Question Id : 87827021216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G 5lis the oldest chapter of
i€ -1
Al -2
3 yuag-3

L -4



Options :

87827083941. 1
87827083942, 2
87827083943. 3
87827083944. 4

Question Number : 52 Question Id : 87827021217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Sl Alajs written in
B gl Ol -1
S5 Ok -2
205 OR) -3

sl ok) -4
Options:
87827083945. 1
87827083946. 2
87827083947. 3
87827083948. 4

Question Number : 52 Question Id : 87827021217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sl Sladjs written in
Byl 0b) -1
S s Ok -2
s Ok -3

sl ok -4
Options:
87827083945. 1
87827083946. 2
87827083947.3

87827083948. 4

Question Number : 53 Question Id : 87827021218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
(2 s dilaan of < slall s 3js written in the field of

ks g
Ayl -2

48l s -3

Options :

87827083949. 1
87827083950. 2
87827083951. 3

87827083952. 4

Question Number : 53 Question Id : 87827021218 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
(2 s dilaan of < slall s 3js written in the field of

k-1
py -2

48l 3> -3

Options :

87827083949. 1
87827083950. 2
87827083951. 3

87827083952. 4

Question Number : 54 Question Id : 87827021219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Uis ¢l Jaijs borrowed from
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e Jad 22

Options:

87827083953. 1
87827083954. 2
87827083955. 3



87827083956. 4

Question Number : 54 Question Id : 87827021219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

U gl Jadjs borrowed from
=l ol s 1]
e b D
ke dad -3
(=l a3 4
Options :
87827083953 1
87827083954, 2

87827083955. 3

87827083956. 4

Question Number : 55 Question Id : 87827021220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to (2 2exe who is the first | ywauaiof Persian
SHsom e -1

el allia )

b ued -3

s -4

Options :



87827083957. 1
87827083958. 2
87827083959. 3

87827083960. 4

Question Number : 55 Question Id : 87827021220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to 2+ 2ess who is the first | yusauaiof Persian

S )3 = e -1

el 4l J9

b e d 3

so5 -4
Options :
87827083957. 1
87827083958. 2
87827083959. 3

87827083960. 4

Question Number : 56 Question Id : 87827021221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The total number of alphabets ini32« Jadjs
le sde -1
LJE‘:"’ S -2
Caas 3 dﬁ% -3
ol -4
Options:
87827083961. 1
87827083962. 2

87827083963. 3

87827083964. 4

Question Number : 56 Question Id : 87827021221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The total number of alphabets in.=32< 1asjs
e sdex -1
i 5 (o -2
Cids g e -3
slaty -4
Options :
87827083961. 1
87827083962. 2

87827083963. 3

87827083964. 4

Question Number : 57 Question Id : 87827021222 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
42 20Ikes Yiwas written by
S8 yaus (S5 -1
(s (A )3 -3
b aeh -4
Options :
87827083965. 1
87827083966. 2

87827083967. 3

87827083968. 4

Question Number : 57 Question Id : 87827021222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
423Ul les Ywas written by
S8 yaus (S5 -1
(s gk sl -2
(il (253 -3

Alhued -4
Options:
87827083965. 1
87827083966. 2
87827083967. 3



87827083968. 4

Question Number : 58 Question Id : 87827021223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

M2 e sitranslated the bookes s & )tin Persian by the order of
TH O Jpale jal -1
S8 a7
d.pLoM leng -3
2|yl -4
Options :
87827083969. 1
87827083970. 2

87827083971. 3

87827083972. 4

Question Number : 58 Question Id : 87827021223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

> 2 e siltranslated the bookes sk & )in Persian by the order of
T8O Jyals il -1

TR Rl

Uaelous| dens -3

Ll pai 4

Options :



87827083969. 1
87827083970. 2
87827083971. 3

87827083972. 4

Question Number : 59 Question Id : 87827021224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
33 S8 )laSasy dse
Cuadt )l 5S35 = gd
Who composed the above couplet

s R -1

SAmc -2
S paic -3

ST --4
Options :
87827083973. 1
87827083974. 2
87827083975. 3

87827083976. 4

Question Number : 59 Question Id : 87827021224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



23 S )laSay) dsé
Cuari )l g S5 o= sod 32
Who composed the above couplet

R -1

g
(a3

5> 5 -4
Options:
87827083973. 1
87827083974. 2
87827083975. 3
87827083976. 4

Question Number : 60 Question Id : 87827021225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

a &b s the collection of the letters of
g el -]
S e (o (palld )i -2
(8 -3
S 583 Saae allae 4
Options :
87827083977. 1

87827083978. 2

87827083979. 3



87827083980. 4

Question Number : 60 Question Id : 87827021225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1w b ¢8sjs the collection of the letters of
gomd pal -]
S ke (32 (pllcd yl -2
=2 -3
ool Suae allae -4
Options :
87827083977. 1
87827083978. 2

87827083979. 3

87827083980. 4

Question Number : 61 Question Id : 87827021226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

How many (adc (salg are in pkllshic (5 s
-1

4 -2

O -3

Cais -4



Options :

87827083981. 1
87827083982. 2
87827083983. 3

87827083984. 4

Question Number : 61 Question Id : 87827021226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
How many (adc salg are in sakllshic 5 sie
J=1

w2

Options :

87827083981. 1
87827083982. 2
87827083983. 3

87827083984. 4

Question Number : 62 Question Id : 87827021227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



(HWilS adisswas the court poet of
i_g}q_.: k?'l.l..ﬂl.nﬁ_h ol -1
LE‘}‘La d_pL.;...ﬂ sl -2

)1:..13 s LS .ﬁ_ﬂbmu -3

Hlals ol uall ik, -4
Options:

87827083985. 1

87827083986. 2

87827083987.3

87827083988. 4

Question Number : 62 Question Id : 87827021227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HwilS adisawas the court poet of
ngs..a ~7u.u1.¢.€_:h ol -1
{_g}iun d_JCrL.u.;.u1 .:L:E -2
SlalE oLl rpualt ik -4
Options :
87827083985. 1
87827083986. 2

87827083987. 3
87827083988. 4

Question Number : 63 Question Id : 87827021228 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TSI R VIR IRV PEL AL L PRIV LSEE
oL 3 C}m—u_ﬂ JﬁulSJ J.Jdn.m_}:iu
Which—=ia is used in the above couplet
‘LijLL.q 3 M G -]
Gl g g Jl s Caia 22
UJ.&.C- 3 J‘}L Cm s -3
AL G o]
Options :
87827083989. 1
87827083990. 2

87827083991. 3

87827083992. 4

Question Number : 63 Question Id : 87827021228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



L a4l agh S S 4
JAJC}%J1JJ§&+_IISJJ:1M_EU
Which—=ia is used in the above couplet
Gl g gl Caia 2D
U—L&.Cr JJ)-L\LL“L&E—g
Alad Cmia -4
Options:
87827083989. 1
87827083990. 2

87827083991. 3
87827083992. 4

Question Number : 64 Question Id : 87827021229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
020 Slowas written by
OB a3 | e -1

Sle O Ciant 22

Lgm‘;u\;t: pald -3

5 a8l 5 -4
Options :
87827083993. 1
87827083994. 2

87827083995. 3



8782708399%6. 4

Question Number : 64 Question Id : 87827021229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(200 Slhwas written by
OB s |8 | e -1

e Ol Sl D

& sl B8l 5 -4
Options :
87827083993. 1
87827083994, 2
87827083995. 3

87827083996. 4

Question Number : 65 Question Id : 87827021230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who compiled thesais ys (e ypali ol s
A Jemdl e -]

A s dena -2

Ol Al pl e -3

s s Jie -4

Options :



87827083997. 1
87827083998. 2
87827083999. 3

87827084000. 4

Question Number : 65 Question Id : 87827021230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who compiled thecais yu (Je yali s
Ui 5A g el dene ]

A s dene -2

Ol ana |l e -3

sHlyoa die -4
Options :
87827083997. 1
87827083998. 2
87827083999. 3

87827084000. 4

Question Number : 66 Question Id : 87827021231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The poet associated with the city of Mewat was
> e -1
Jan 1 e -2
330l s -3
|
Options:
87827084001. 1
87827084002. 2

87827084003. 3

87827084004. 4

Question Number : 66 Question Id : 87827021231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The poet associated with the city of Mewat was
Y s -1
a1 e -2
330 s -3
P N
Options :
87827084001. 1
87827084002. 2

87827084003. 3

87827084004. 4

Question Number : 67 Question Id : 87827021232 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who was the Prime Minister of sl& (pall yali Qajar
| oe e -1

S el -2

sl cpall yalne -3

s ild mlla | ye -4
Options :
87827084005. 1
87827084006. 2
87827084007. 3

87827084008. 4

Question Number : 67 Question Id : 87827021232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who was the Prime Minister of sl& (pall yali Qajar
1 Joge ube -1

DS el -2

oLl pall yalne -3

il mlla 15 1 -4
Options :
87827084005. 1

87827084006. 2



87827084007. 3
87827084008. 4

Question Number : 68 Question Id : 87827021233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e lu s 22045 also known as
Qe pali-]
Ay 3 S -2
Y
e »R-3
Culay aba -4
Options :
87827084009. 1
87827084010. 2

87827084011. 3

87827084012. 4

Question Number : 68 Question Id : 87827021233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

el s 220E§s also known as
Qs pali -]

A ye 4 K22

e »R-3

Culay 3alia -4



Options :

878270840009. 1
87827084010. 2
87827084011.3
87827084012. 4

Question Number : 69 Question Id : 87827021234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Cuneiform is the script of
S -1

Vs 4l -2

o= -3

Ol ()18 -4
Options:
87827084013. 1
87827084014. 2
87827084015. 3
87827084016. 4

Question Number : 69 Question Id : 87827021234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Cuneiform is the script of

S -1

Vs 4l -2

o= -3

OBl (18 -4
Options:
87827084013. 1
87827084014. 2
87827084015. 3
87827084016. 4

Question Number : 70 Question Id : 87827021235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Luiea CiGwas the capital of

(7 ) e
Oludiclas -2
ksl -3
Ol -4
Options :
87827084017. 1
87827084018. 2

87827084019. 3
87827084020. 4

Question Number : 70 Question Id : 87827021235 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Luiea CiGwas the capital of

(7 ) e
Oludiclas -2
Sl -3

Olbaba -4
Options :
87827084017. 1
87827084018. 2
87827084019. 3
87827084020. 4

Question Number : 71 Question Id : 87827021236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
The firstu=liiof )L s was

oboes -1
Cingy -2

& -3

41l -4

Options:
87827084021. 1
87827084022. 2

87827084023. 3



87827084024. 4

Question Number : 71 Question Id : 87827021236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The firstualsiof )L i was
obyed -1
Cingy -2
Sy -3
b -4
Options :
87827084021. 1
87827084022. 2

87827084023. 3

87827084024. 4

Question Number : 72 Question Id : 87827021237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

s sl \What is the original name of
ax Hllae -1
S gl -2
a5 llae -3

3 g3 gl -4

Options :



87827084025. 1
87827084026. 2
87827084027. 3

87827084028. 4

Question Number : 72 Question Id : 87827021237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

s sl \What is the original name of
ps llae -]
S8l gl -2
i llae -3

350 5llae -4
Options :
87827084025. 1
87827084026. 2
87827084027. 3

87827084028. 4

Question Number : 73 Question Id : 87827021238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The book s s +Swas written by

sl lea e dans 2

Culay adla -3

ssle L)% -4
Options:
87827084029. 1
87827084030. 2
87827084031.3

87827084032. 4

Question Number : 73 Question Id : 87827021238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The book s s +Swas written by

sl Mlea o dans -2

Culay adla -3

gsle L5 -4
Options :
87827084029. 1
87827084030. 2
87827084031. 3
87827084032. 4

Question Number : 74 Question Id : 87827021239 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Name of the Persian fiction writer, whose writings speak of Buddhist philosophy
Culdy (ila -]

G 2as -2

s 3

g L34
Options :
87827084033. 1
87827084034. 2
87827084035. 3

87827084036. 4

Question Number : 74 Question Id : 87827021239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Name of the Persian fiction writer, whose writings speak of Buddhist philosophy
Culdy (ila -]

G Las-)

s -3

sk &4

Options:

87827084033. 1
87827084034. 2
87827084035. 3



87827084036. 4

Question Number : 75 Question Id : 87827021240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

s pl Cania 5 SN js @ work of
530l O -1

S Qi ps |l (e -2

sl FAVA 5] 3

afSallae M -g

Options:

87827084037. 1
87827084038. 2
87827084039. 3

87827084040. 4

Question Number : 75 Question Id : 87827021240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ausl pl Casia b SN js @ work of
5ol oa -1

B OB anl il e -2

el Bl 3

aSallue S -4



Options :

87827084037. 1
87827084038. 2
87827084039. 3
87827084040. 4

Question Number : 76 Question Id : 87827021241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The first short stories collection of <> (3laijs
33303 ye Jrka gl 48 (g J0l -]
e B gl -2
8 dsl 55, -3
B R e |
Options:
87827084041 1
87827084042. 2

87827084043. 3

87827084044. 4

Question Number : 76 Question Id : 87827021241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The first short stories collection of <> (3laijs
33303 ye Jrka gl 48 (g J0l -]
e B gl -2
2B Jsl 5s5y-3
B R e |
Options:
87827084041 1
87827084042. 2

87827084043. 3

87827084044. 4

Question Number : 77 Question Id : 87827021242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
& sBlle &3lE 5 was written by
S Y deallae -1
(Pla dans | ) yia -2
sl os die -3
SUlbl a2 -4
Options:
87827084045. 1
87827084046. 2

87827084047. 3

87827084048. 4



Question Number : 77 Question Id : 87827021242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
@ y5dle &1 5 was written by
S Beallae -]
s o file -3
Skl s WU -4
Options :
87827084045. 1
87827084046. 2

87827084047. 3

87827084048. 4

Question Number : 78 Question Id : 87827021243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The father of U & )lawas

Options :
87827084049. 1

87827084050. 2



87827084051. 3
87827084052. 4

Question Number : 78 Question Id : 87827021243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The father of % 2 )lhwas

Options :

87827084049. 1
87827084050. 2
87827084051. 3

87827084052. 4

Question Number : 79 Question Id : 87827021244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The name of Rustam’s horse was

Uisy -1
A 3 -2
G -3

UAS -4



Options :

87827084053. 1
87827084054. 2
87827084055. 3
87827084056. 4

Question Number : 79 Question Id : 87827021244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The name of Rustam’s horse was

Uity -1

Options:

87827084053. 1
87827084054. 2
87827084055. 3

87827084056. 4

Question Number : 80 Question Id : 87827021245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Name of the writer of (g2 s2ue ) 13
(_‘T“"J'J AP |
R Ol sl -3
o ISS Jadl yaic yul-4
Options:
87827084057. 1
87827084058, 2

87827084059. 3
87827084060. 4

Question Number : 80 Question Id : 87827021245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Name of the writer of 2 saae () 518
G"Jﬂ' AP |
S8 ot (ouim 5 je (el -2
ok o) sl -3
U ISS Jadl yaie jal-4
Options :
87827084057. 1
87827084058. 2

87827084059. 3
87827084060. 4

Question Number : 81 Question Id : 87827021246 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The poetic form of (l) 5 Jusis

at

CRET=Y- Ry |

At

Jie -2
S e -3

=) -4
Options :
87827084061. 1
87827084062. 2
87827084063. 3

87827084064. 4

Question Number : 81 Question Id : 87827021246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The poetic form of (2l 5 o sis

at

R Ry |

a*

Jde -2
5 e -3

=) -4
Options:
87827084061. 1
87827084062. 2
87827084063. 3



87827084064. 4

Question Number : 82 Question Id : 87827021247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The subject matter of the novel ol yi abjs
>0 -1
alalle -2
4ibanls -3
seldal -4
Options :
87827084065. 1
87827084066. 2

87827084067. 3

87827084068. 4

Question Number : 82 Question Id : 87827021247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The subject matter of the novel ol i aljs
=1
ailadle -2
4bdls -3

(eldal -4

Options :



87827084065. 1
87827084066. 2
87827084067. 3

87827084068. 4

Question Number : 83 Question Id : 87827021248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
O30 U composed
= . n
_J_BS_I] pravisy |
Jllﬁ.:l -2
laad &4 -3
il -4
Options :
87827084069. 1
87827084070. 2

87827084071. 3

87827084072. 4

Question Number : 83 Question Id : 87827021248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



D338 b composed
)Pl -1
_,J1_5;1'J -2
Laad &4 -3
il -4
Options :
87827084069. 1
87827084070. 2

87827084071. 3

87827084072. 4

Question Number : 84 Question Id : 87827021249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
"t a5 Sewas written by
1 .
Eds lei -1
Gl Gl il (sgw -2
AR 8 ¢ 52-3
A T
Options :
87827084073. 1
87827084074. 2

87827084075. 3

87827084076. 4



Question Number : 84 Question Id : 87827021249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"l Al 5 Ceawas written by
i beti -]

SIS o A1 (g3 -2

H3AAE -3

cg g ) al)
Options :
87827084073. 1
87827084074. 2
87827084075. 3

87827084076. 4

Question Number : 85 Question Id : 87827021250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

S sl 5iis a poetic collection of
DR Gpas dena -]
S0 SR -2
Gl Gl sal 52 -3
AR AE -4
Options :

87827084077.1

87827084078. 2



87827084079. 3

87827084080. 4

Question Number : 85 Question Id : 87827021250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S sl sis a poetic collection of
DR G dena -]
SIS R-2
Sl Ol a0 52 -3
AR AE -4
Options :
87827084077. 1
87827084078. 2

87827084079. 3

87827084080. 4

Question Number : 86 Question Id : 87827021251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The poem »x » &S ) “aiwas composed by
Gy (-1

S sk -2

Sgie Hlgr -3

g bt -4
Options :
87827084081. 1
87827084082. 2
87827084083. 3

87827084084. 4

Question Number : 86 Question Id : 87827021251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
The poem s » &5 ; iabwas composed by
Culdy -1
S A -2
Sgie Hlgr -3
aig Lett -4
Options :
87827084081. 1
87827084082. 2

87827084083. 3

87827084084. 4



Question Number : 87 Question Id : 87827021252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
g2l (RS Jmy gl 5
el 0 S e (gl 0 (S
The above couplet is composed in_~
@ ~-1
Jey -2
Gl -3
Aly -4
Options :
87827084085. 1
87827084086. 2

87827084087. 3

87827084088. 4

Question Number : 87 Question Id : 87827021252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



gl P S diay gl p 5

el (A S Juad (gl 1 (S

The above couplet is composed in
o o1

ey 23-2

ol -3

Aly -4
Options:
87827084085. 1
87827084086. 2
87827084087. 3
87827084088. 4

Question Number : 88 Question Id : 87827021253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

35 Ui yowas the flag which was used as a symbol of revolution against
AR |
Oyl -2
IHh-3
FaS-4
Options :
87827084089. 1

87827084090. 2

87827084091. 3



87827084092. 4

Question Number : 88 Question Id : 87827021253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

235 Ui yowas the flag which was used as a symbol of revolution against
SEs L]
Ol sl -2
IHh-3
sS4
Options :
87827084089. 1
87827084090. 2

87827084091. 3

87827084092. 4

Question Number : 89 Question Id : 87827021254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

< 5 the religious book of Zoroastrians was written in
Buyl gl -1
sl Ok -2
0P -3

==ke k) -4

Options :



87827084093. 1
87827084094. 2
87827084095. 3

87827084096. 4

Question Number : 89 Question Id : 87827021254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

< s the religious book of Zoroastrians was written in
Gagl 0bj -1
S s Ok -2
gD -3

ke k) -4
Options :
87827084093. 1
87827084094. 2
87827084095. 3

87827084096. 4

Question Number : 90 Question Id : 87827021255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



.l (n ¥lwas composed by
S8 yalh (Sa -1
b Sl -2

$ i e -3

b uedi -4
Options:
87827084097. 1
87827084098. 2
87827084099. 3

87827084100. 4

Question Number : 90 Question Id : 87827021255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
4l ( lwas composed by
g8 el (S5, -1
b ) Sdgl -2
Syl e -3
D ued -4
Options :
87827084097. 1
87827084098. 2

87827084099. 3

87827084100. 4

Question Number : 91 Question Id : 87827021256 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el

1 ool el S Sl (A

1R el s (B

3 g it i (C

Cul g 8 (il Miangi (D

3 ashie |y gt 5 gl (E

Choose the correct answer from the options given below:

1) B,Conly
2) C,Eonly
3)AD only
4) B,E only

Options :

87827084101. 1
87827084102. 2
87827084103. 3

87827084104. 4

Question Number : 91 Question Id : 87827021256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Ul

19 o2 pad e £ (A

231l Ol )3 (B

3 gy il o (C

Cul g 8 (il i D

35 pshla ) o gl (E

Choose the correct answer from the options given below:

1) B,Conly
2) CEonly
3)ADonly

4) B, only

Options:

87827084101. 1
87827084102. 2
87827084103. 3
87827084104. 4

Question Number : 92 Question Id : 87827021257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



a0
Cual als 24 (Jaie (A
bl g gy 2 (B
Cual g Juadl gl 428 1 (C
Cual Juae ¥l J 5 ol 4yl Jual (D
Cual (53]l el 438 (F
Choose the correct answer from the options given below:
1) A B only
2)B,Conly
3)ADEonly
4) A,Conly

Options:

87827084105. 1
87827084106. 2
87827084107.3
87827084108. 4

Question Number : 92 Question Id : 87827021257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



a0
Cual als 24 (Jaie (A
bl g gy 2 (B
Cual g Juadl gl 428 1 (C
Cual Juae ¥l J 5 ol 4yl Jual (D
Cual (53]l el 438 (F
Choose the correct answer from the options given below:
1) A B only
2)B,Conly
3)ADEonly
4) A,Conly

Options:

87827084105. 1
87827084106. 2
87827084107.3
87827084108. 4

Question Number : 93 Question Id : 87827021258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Wl 0

Cul iy Slilbe ik (A

Cul 2 g K1

Cul s dur yy Jeila (C

Cul g R34 (D

Cual S gl o 5]l ol (B

Choose the correct answer from the options given below:

1) B,D only
2) B,E only
3)AConly
4) D,E only

Options:

87827084109. 1
87827084110. 2
87827084111.3

87827084112. 4

Question Number : 93 Question Id : 87827021258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Wl 0

Cul iy Slilbe ik (A

Cul 2 g K1

Cul s dur yy Jeila (C

Cul g R34 (D

Cual S gl o 5]l ol (B

Choose the correct answer from the options given below:

1) B,D only
2) B,E only
3)AConly
4) D,E only

Options:

87827084109. 1
87827084110. 2
87827084111.3

87827084112. 4

Question Number : 94 Question Id : 87827021259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R (s e

3 Jgha gl i (A

2o shia S 5005 21 S s B

Culaagpaly gl s Jl " p IW'(C

Gl gials da 0| il S (D

L iy g (B

Choose the correct answer from the options given below:

1) B,Conly
2)A,Donly
3) D,E only
4) AE only

Options:

87827084113. 1
87827084114. 2
87827084115.3
87827084116. 4

Question Number : 94 Question Id : 87827021259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R (s e

3 Jgha gl i (A

2o shia S 5005 21 S s B

Culaagpaly gl s Jl " p IW'(C

Gl gials da 0| il S (D

L iy g (B

Choose the correct answer from the options given below:

1) B,Conly
2)A,Donly
3) D,E only
4) AE only

Options:

87827084113. 1
87827084114. 2
87827084115.3
87827084116. 4

Question Number : 95 Question Id : 87827021260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S)f

12K Ol 4 ads () s 2 (A

3 o0 gl )43 31 (B

Cuslod gy ) )6 g (C

3y ol g 42 (D

Cualod S i | ol ke g i (E

Choose the most appropriate answer from the options given below:

1) C,D only
2) ABonly
3) D,E only
4) C.E only
Options :

87827084117.1
87827084118. 2
87827084119. 3
87827084120. 4

Question Number : 95 Question Id : 87827021260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S)f

12K Ol 4 ads () s 2 (A

3 o0 gl )43 31 (B

Cuslod gy ) )6 g (C

3y ol g 42 (D

Cualod S i | ol ke g i (E

Choose the most appropriate answer from the options given below:

1) C,D only
2) ABonly
3) D,E only
4) C.E only
Options :

87827084117.1
87827084118. 2
87827084119. 3
87827084120. 4

Question Number : 96 Question Id : 87827021261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



gy pal

39 4 il (A

3yl ) s ol (B

3 o0 o0 Ol e 3 (C

33t ki f kg (D

Cal g |y 4l Je (E

Choose the correct answer from the options given below:

1) B,Conly
2) CEonly
3)AD only
4) B,E only

Options:

87827084121. 1
87827084122. 2
87827084123.3

87827084124. 4

Question Number : 96 Question Id : 87827021261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



gy pal

39 4 il (A

3yl ) s ol (B

3 o0 o0 Ol e 3 (C

33t ki f kg (D

Cal g |y 4l Je (E

Choose the correct answer from the options given below:

1) B,Conly
2) CEonly
3)AD only
4) B,E only

Options:

87827084121. 1
87827084122. 2
87827084123.3

87827084124. 4

Question Number : 97 Question Id : 87827021262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(gt

8 gl sl 0 S bl f ol 2 1) f (A

1S p e iy iy o) ol (B

3 ey plalhie gl (C

Caal 3 33 5198l (D

Gl 3L g o g6 a0 0 (E

Choose the correct answer from the options given below:

1) D,E only
2) ABonly
3)C,D only
4) C.E only

Options:

87827084125. 1
87827084126. 2
87827084127.3

87827084128. 4

Question Number : 97 Question Id : 87827021262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(gt

8 gl sl 0 S bl f ol 2 1) f (A

1S p e iy iy o) ol (B

3 ey plalhie gl (C

Caal 3 33 5198l (D

Gl 3L g o g6 a0 0 (E

Choose the correct answer from the options given below:

1) D,E only
2) ABonly
3)C,D only
4) C.E only

Options:

87827084125. 1
87827084126. 2
87827084127.3

87827084128. 4

Question Number : 98 Question Id : 87827021263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



5 o Sy

3 e (g s e gl (A

1 o 80 gal gl 2 (B

1y sl (C

3 gl deal ( pead Jupd 2 (D

3 S okt ) gt gl B

Choose the correct answer from the options given below:

1) A,Conly
2)B,0 only
3) D,E only
4) B,E only

Options:

87827084129. 1
87827084130. 2
87827084131.3
87827084132. 4

Question Number : 98 Question Id : 87827021263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



5 o Sy

3 e (g s e gl (A

1 o 80 gal gl 2 (B

1y sl (C

3 gl deal ( pead Jupd 2 (D

3 S okt ) gt gl B

Choose the correct answer from the options given below:

1) A,Conly
2)B,0 only
3) D,E only
4) B,E only

Options:

87827084129. 1
87827084130. 2
87827084131.3
87827084132. 4

Question Number : 99 Question Id : 87827021264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



g pale

33t s s gl ol SLe (A

2R psale )" 5 ot st (B

3 gl gl e (C

P68y plll SL (D

IS pshlel) "oy 3" sl (E

Choose the most appropriate answer from the options given helow:

1) D,E only
2) ABonly
3)B,Conly
4) A,Conly

Options:

87827084133. 1
87827084134. 2
87827084135.3

87827084136. 4

Question Number : 99 Question Id : 87827021264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



g pale

33t s s gl ol SLe (A

2R psale )" 5 ot st (B

3 gl gl e (C

P68y plll SL (D

IS pshlel) "oy 3" sl (E

Choose the most appropriate answer from the options given helow:

1) D,E only
2) ABonly
3)B,Conly
4) A,Conly

Options:

87827084133. 1
87827084134. 2
87827084135.3

87827084136. 4

Question Number : 100 Question Id : 87827021265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



a}ﬁﬁbh
25 s Ky g (A

151 el Kyt B

Cul g Snlar ol G 5y 0 (C

334 (el 84 gl 34l (D

i) st (

Choose the most appropriate answer from the options given below:
1) ADonly
2) AE only
3) B,C only
4) D,E only

Options:

87827084137. 1
87827084138. 2
87827084139. 3
87827084140. 4

Question Number : 100 Question Id : 87827021265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



a}ﬁﬁbh
25 s Ky g (A

151 el Kyt B

Cul g Snlar ol G 5y 0 (C

334 (el 84 gl 34l (D

i) st (

Choose the most appropriate answer from the options given below:
1) ADonly
2) AE only
3) B,C only
4) D,E only

Options:

87827084137. 1
87827084138. 2
87827084139. 3
87827084140. 4

Question Number : 101 Question Id : 87827021266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(g s

Cual o 8 ol |y i gl slua e 3 (A

g ) 1y g

Cusl gt g SASOED a8 4l 7 ghaa (C

Sl gy gt g el (D

L gl oyl ged 0 (E

Choose the most appropriate answer from the options given helow:

1) A,Conly
2)B,0 only
3) D,E only
4) B,E only

Options:

87827084141. 1
87827084142. 2
87827084143.3

87827084144. 4

Question Number : 101 Question Id : 87827021266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(g s

Cual o 8 ol |y i gl slua e 3 (A

g ) 1y g

Cusl gt g SASOED a8 4l 7 ghaa (C

Sl gy gt g el (D

L gl oyl ged 0 (E

Choose the most appropriate answer from the options given helow:

1) A,Conly
2)B,0 only
3) D,E only
4) B,E only

Options:

87827084141. 1
87827084142. 2
87827084143.3

87827084144. 4

Question Number : 102 Question Id : 87827021267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



QEUTIEIS

Cul 5 gy il (A

Cual I (b 518 g0 (B

Cudl hale 4l o (C

Cual " pali I K LD (D

Cual " dalial” L A (E

Choose the most appropriate answer from the options given helow:

1) B,Conly
2) AE only
3)C,D only

4) B,D only

Options:

87827084145. 1
87827084146. 2
87827084147.3
87827084148. 4

Question Number : 102 Question Id : 87827021267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



QEUTIEIS

Cul 5 gy il (A

Cual I (b 518 g0 (B

Cudl hale 4l o (C

Cual " pali I K LD (D

Cual " dalial” L A (E

Choose the most appropriate answer from the options given helow:

1) B,Conly
2) AE only
3)C,D only

4) B,D only

Options:

87827084145. 1
87827084146. 2
87827084147.3
87827084148. 4

Question Number : 103 Question Id : 87827021268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4all gl

Al i ol (3K el (A

Culp gl gle s e (ol 6l e (B

Cul iy gl (o 8l 0 K8 pd B (C

Al il ) 388 575 Jus (D

3904 o 831 gl gl 31 ¢l il i (E

Choose the most appropriate answer from the options given helow:

1) B,D only
2) B,E only
3) D,E only

4) A,Conly

Options:

87827084149. 1
87827084150. 2
87827084151.3
87827084152. 4

Question Number : 103 Question Id : 87827021268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4all gl

Al i ol (3K el (A

Culp gl gle s e (ol 6l e (B

Cul iy gl (o 8l 0 K8 pd B (C

Al il ) 388 575 Jus (D

3904 o 831 gl gl 31 ¢l il i (E

Choose the most appropriate answer from the options given helow:

1) B,D only
2) B,E only
3) D,E only

4) A,Conly

Options:

87827084149. 1
87827084150. 2
87827084151.3
87827084152. 4

Question Number : 104 Question Id : 87827021269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



5k i

Cul ' Pl A

3 f s’ (B

3 ol gl o K15 (C

3R el [ Ml " g5 (D

Gl o tlagd Btl g ) g 30 (S a8 L (E

Choose the most appropriate answer from the options given helow:

1) C,D only
2) D,E only
3)ABonly
4) C.E only

Options:

87827084153. 1
87827084154. 2
87827084155. 3
87827084156. 4

Question Number : 104 Question Id : 87827021269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



5k i

Cul ' Pl A

3 f s’ (B

3 ol gl o K15 (C

3R el [ Ml " g5 (D

Gl o tlagd Btl g ) g 30 (S a8 L (E

Choose the most appropriate answer from the options given helow:

1) C,D only
2) D,E only
3)ABonly
4) C.E only

Options:

87827084153. 1
87827084154. 2
87827084155. 3
87827084156. 4

Question Number : 105 Question Id : 87827021270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



s ol s

Cul b g e Gl g g A

Cudosdialisg e by 2 (B

Cual 02l 1 1y adiad e 1 (C

Cual gy 38 all ¢yl S (D

Cual Ml 4 Ty g 1 6l e (B

Choose the correct answer from the options given below:

1) B,D only
2)AConly
3) D,E only
4) B,E only

Options:

87827084157. 1
87827084158. 2
87827084159. 3
87827084160. 4

Question Number : 105 Question Id : 87827021270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



s ol s

Cul b g e Gl g g A

Cudosdialisg e by 2 (B

Cual 02l 1 1y adiad e 1 (C

Cual gy 38 all ¢yl S (D

Cual Ml 4 Ty g 1 6l e (B

Choose the correct answer from the options given below:

1) B,D only
2)AConly
3) D,E only
4) B,E only

Options:

87827084157. 1
87827084158. 2
87827084159. 3
87827084160. 4

Question Number : 106 Question Id : 87827021271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1yl 4ol

dprlua s b e (A

2o 0 R nglﬁ sl Ly sSa 4 (B

3R @yl 2 (C

gl oSls 14l s (D

Cual iy cag 0 (E

Choose the correct answer from the options given below:

1) A B only
2) AE only
3) D,E only
4)C,D only

Options:

87827084161. 1
87827084162. 2
87827084163.3

87827084164. 4

Question Number : 106 Question Id : 87827021271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1yl 4ol

dprlua s b e (A

2o 0 R nglﬁ sl Ly sSa 4 (B

3R @yl 2 (C

gl oSls 14l s (D

Cual iy cag 0 (E

Choose the correct answer from the options given below:

1) A B only
2) AE only
3) D,E only
4)C,D only

Options:

87827084161. 1
87827084162. 2
87827084163.3

87827084164. 4

Question Number : 107 Question Id : 87827021272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



OB S e

33t 0 g e e (A

3 e g alljg) (B

y e ol g (c

Dyt gl oL 2 (e § ol 2 Sy (D

23l 4y ) i

Choose the correct answer from the options given below:

1) A B only
2) D,E only
3) B,E only
4)B,Conly

Options:

87827084165. 1
87827084166. 2
87827084167.3
87827084168. 4

Question Number : 107 Question Id : 87827021272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



OB S e

33t 0 g e e (A

3 e g alljg) (B

y e ol g (c

Dyt gl oL 2 (e § ol 2 Sy (D

23l 4y ) i

Choose the correct answer from the options given below:

1) A B only
2) D,E only
3) B,E only
4)B,Conly

Options:

87827084165. 1
87827084166. 2
87827084167.3
87827084168. 4

Question Number : 108 Question Id : 87827021273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



'yl

0y ] € (A

p ey 2 (B

o i gpldl K3 (C

g0l gl » 1751 Js 2 (D

Cullad gy g s ool e j 0 (E

Choose the correct answer from the options given below:

1) A,Conly
2) ABonly
3) D,E only
4)C,D only

Options:

87827084169. 1
87827084170. 2
87827084171.3
87827084172. 4

Question Number : 108 Question Id : 87827021273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



'yl

0y ] € (A

p ey 2 (B

o i gpldl K3 (C

g0l gl » 1751 Js 2 (D

Cullad gy g s ool e j 0 (E

Choose the correct answer from the options given below:

1) A,Conly
2) ABonly
3) D,E only
4)C,D only

Options:

87827084169. 1
87827084170. 2
87827084171.3
87827084172. 4

Question Number : 109 Question Id : 87827021274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



0 ) a0 yplla

3y g g Ol 4 i A

2000 s sl s (B

1 e ot 4l ool DA el (C

g s 2 (D

2l "@..a 2ol iy JEMET W (E

Choose the correct answer from the options given below:

1) A,D only
2)CAonly
3) CEonly

4)C,D only

Options:

87827084173. 1
87827084174. 2
87827084175.3
87827084176. 4

Question Number : 109 Question Id : 87827021274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



0 ) a0 yplla

3y g g Ol 4 i A

2000 s sl s (B

1 e ot 4l ool DA el (C

g s 2 (D

2l "@..a 2ol iy JEMET W (E

Choose the correct answer from the options given below:

1) A,D only
2)CAonly
3) CEonly

4)C,D only

Options:

87827084173. 1
87827084174. 2
87827084175.3
87827084176. 4

Question Number : 110 Question Id : 87827021275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Cubla "l " i (A

L)) galiud (B

3 g ol (C

2 4 s i (D

a5l 0 (E

Choose the correct answer from the options given below:

1) A,Conly
2) D,E only
3)AD only
4) B,D only

Options:

87827084177. 1
87827084178. 2
87827084179.3
87827084180. 4

Question Number : 110 Question Id : 87827021275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Cubla "l " i (A

L)) galiud (B

3 g ol (C

2 4 s i (D

a5l 0 (E

Choose the correct answer from the options given below:

1) A,Conly
2) D,E only
3)AD only
4) B,D only

Options:

87827084177. 1
87827084178. 2
87827084179.3
87827084180. 4

Question Number : 111 Question Id : 87827021276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



W

3 g S Clyaad ) il (A

Ip a8 s (B

3g s gl i (C

3 ulegh il JYlugea (D

3 Sy panat el (E

Choose the correct answer from the options given below:

1) A,Conly
2)A,Donly
3) CEonly
4) AE only

Options:

87827084181. 1
87827084182. 2
87827084183.3

87827084184. 4

Question Number : 111 Question Id : 87827021276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



W

3 g S Clyaad ) il (A

Ip a8 s (B

3g s gl i (C

3 ulegh il JYlugea (D

3 Sy panat el (E

Choose the correct answer from the options given below:

1) A,Conly
2)A,Donly
3) CEonly
4) AE only

Options:

87827084181. 1
87827084182. 2
87827084183.3

87827084184. 4

Question Number : 112 Question Id : 87827021277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



- il b

CHBD ) BT 5 g4y g (A
Cul g gl 51 (B

Cul s a i (C

Cul bl I o i o0 (D

s g SLIP ot R i

Choose the correct answer from the options given below:
1) B,D only
2) AEonly
3)B,D only

4) C.E only

Options:

87827084185. 1
87827084186. 2
87827084187.3

87827084188. 4

Question Number : 112 Question Id : 87827021277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



- il b

CHBD ) BT 5 g4y g (A
Cul g gl 51 (B

Cul s a i (C

Cul bl I o i o0 (D

s g SLIP ot R i

Choose the correct answer from the options given below:
1) B,D only
2) AEonly
3)B,D only

4) C.E only

Options:

87827084185. 1
87827084186. 2
87827084187.3

87827084188. 4

Question Number : 113 Question Id : 87827021278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



PEUTEEN

Cual | o ot I Gyl g (A

S B4y ulagh sl S 4y pe s (B

Cual (A e dena U ol St (C

Caal i Bt po 6l ise D

39 6 i ol oLl ol (B

Choose the correct answer from the options given below:

1) A,D only
2) B,E only
3)D,Aonly

4) AE only

Options:

87827084189. 1
87827084190. 2
87827084191.3
87827084192. 4

Question Number : 113 Question Id : 87827021278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



PEUTEEN

Cual | o ot I Gyl g (A

S B4y ulagh sl S 4y pe s (B

Cual (A e dena U ol St (C

Caal i Bt po 6l ise D

39 6 i ol oLl ol (B

Choose the correct answer from the options given below:

1) A,D only
2) B,E only
3)D,Aonly

4) AE only

Options:

87827084189. 1
87827084190. 2
87827084191.3
87827084192. 4

Question Number : 114 Question Id : 87827021279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1)l e

Cual g g 52 ol e (A

o (s (il sy (B

ol sl g bl 2 (C

Cul Jadl e ana (D

Cual s 3. K30 (F

Choose the correct answer from the options given below:

1) B,Conly
2) B,E only
3) ABonly
4)B,D only

Options:

87827084193. 1
87827084194. 2
87827084195. 3
87827084196. 4

Question Number : 114 Question Id : 87827021279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1)l e

Cual g g 52 ol e (A

o (s (il sy (B

ol sl g bl 2 (C

Cul Jadl e ana (D

Cual s 3. K30 (F

Choose the correct answer from the options given below:

1) B,Conly
2) B,E only
3) ABonly
4)B,D only

Options:

87827084193. 1
87827084194. 2
87827084195. 3
87827084196. 4

Question Number : 115 Question Id : 87827021280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G haa

s e ol ol ulll S (A

Cual gl 805 (B

3R e ga ol Jogp o8y i (C

g s 2 (D

g i Jlal A S 0 (E

Choose the correct answer from the options given below:

1) C,D only
2)B,Conly
3)ABonly
4) B,D only

Options:

87827084197. 1
87827084198. 2
87827084199. 3
87827084200. 4

Question Number : 115 Question Id : 87827021280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G haa

s e ol ol ulll S (A

Cual gl 805 (B

3R e ga ol Jogp o8y i (C

g s 2 (D

g i Jlal A S 0 (E

Choose the correct answer from the options given below:

1) C,D only
2)B,Conly
3)ABonly
4) B,D only

Options:

87827084197. 1
87827084198. 2
87827084199. 3
87827084200. 4

Question Number : 116 Question Id : 87827021281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LISTI LISTII
A i Jasaj
a2
B W
C S I oy
D & v it

Choose the correct answer from the options given below:
1) A, B, C-IV, D-|
2) A, B-1l, G, Dl
3) AV, BAIIl, C-11, D

4) A-IV, B, C-I, D-ll

Options:

87827084201. 1
87827084202. 2
87827084203. 3

87827084204. 4

Question Number : 116 Question Id : 87827021281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LISTI LISTII
A i Jasaj
a2
B W
C S I oy
D & v it

Choose the correct answer from the options given below:
1) A, B, C-IV, D-|
2) A, B-1l, G, Dl
3) AV, BAIIl, C-11, D

4) A-IV, B, C-I, D-ll

Options:

87827084201. 1
87827084202. 2
87827084203. 3

87827084204. 4

Question Number : 117 Question Id : 87827021282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LISTI LISTII

Gl gl s QK
A Cinaa Y die j
Juk

B HI Cundla g el e g i

C JJ:} g J.JL» anlﬁ : )j.'ﬂ m 40 iiu\:p.u

Choose the correct answer from the options given below:
1) A-Il, B-1V, C-1, DI
2) AV, BAIIl, C-I1, D
3) AN, B+, C-IV, DA

4) A, B-1ll, C-II, D-IV
Options:
87827084205. 1
87827084206. 2
87827084207. 3

87827084208. 4

Question Number : 117 Question Id : 87827021282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Match list | with List I

LIST] LISTII

gl s QLK
A Civa o di Jo
ik

B P Cnllia g Gl i

C K JJL» J&Uﬁ ; )L’ﬂ I 40 ﬂulnu

Choose the correct answer from the options given below:

1) A-Il, B-1V, C-1, Dl
) AV, BAIll, CAI, D
3) Al, B-J, C-IV, DAl

4) A, B-11I, C-I, -1V
Options :
87827084205. 1
87827084206. 2
87827084207.3

87827084208. 4

Question Number : 118 Question Id : 87827021283 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

LISTI LISTII
A i Al o p
o DAl s ol £
B ;“P' e i
C e i I I
D Ny IV sy

Choose the correct answer from the options given below:
1) A-V, B-1I1, C-11, D
2) Al B+, C-IV, D-I
3) AL, BN, G, DV

4) AV, B-1l, C-J, D-Il
Options :
87827084209. 1
87827084210. 2
87827084211. 3

87827084212. 4

Question Number : 118 Question Id : 87827021283 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

LISTI LISTII
A i Al o p
o DAl s ol £
B ;“P' e i
C e i I I
D Ny IV sy

Choose the correct answer from the options given below:
1) A-V, B-1I1, C-11, D
2) Al B+, C-IV, D-I
3) AL, BN, G, DV

4) AV, B-1l, C-J, D-Il
Options :
87827084209. 1
87827084210. 2
87827084211. 3

87827084212. 4

Question Number : 119 Question Id : 87827021284 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

LISTI LISTII
A s W (6 i g
A b ik
B 5 I
C s Il s
D G i LR

Choose the correct answer from the options given below:
1) A, B-Il, C-IIl, DAV
2) Al, BN, C-IV, D-|
3) Al B-11, C-1, -V

4) A-1V, B-Ill, G-I, D

Options :

87827084213. 1
87827084214. 2
87827084215. 3

87827084216. 4

Question Number : 119 Question Id : 87827021284 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

LISTI LISTII
A s W (6 i g
A b ik
B 5 I
C s Il s
D G i LR

Choose the correct answer from the options given below:
1) A, B-Il, C-IIl, DAV
2) Al, BN, C-IV, D-|
3) Al B-11, C-1, -V

4) A-1V, B-Ill, G-I, D

Options :

87827084213. 1
87827084214. 2
87827084215. 3

87827084216. 4

Question Number : 120 Question Id : 87827021285 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

LISTI ST
A AL 3Ky il gl G
: AL ; 2t o4 Sl il
G S fg) sk I e sl gl el S
D PR v SIS SE

Choose the correct answer from the options given below:
1) A, B-II, C-IIl, D-IV
2) A-ll, B-), C-II, D-IV
3) AL, BN, G-V, D

4) A-1V, B-II, C-I, D-1I

Options :

87827084217. 1
87827084218. 2
87827084219. 3

87827084220. 4

Question Number : 120 Question Id : 87827021285 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

LISTI ST
A AL 3Ky il gl G
: AL ; 2t o4 Sl il
G S fg) sk I e sl gl el S
D PR v SIS SE

Choose the correct answer from the options given below:
1) A, B-II, C-IIl, D-IV
2) A-ll, B-), C-II, D-IV
3) AL, BN, G-V, D

4) A-1V, B-II, C-I, D-1I

Options :

87827084217. 1
87827084218. 2
87827084219. 3

87827084220. 4

Question Number : 121 Question Id : 87827021286 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

LISTI LISTI
A i L2 (48 ) » K1 48
U}J a&fﬂb
B e I
C s fu m i gl i
A o | i

Choose the correct answer from the options given below:
1) A-|, B-II, C-III, D-IV
2) Al, BN, C-IV, D-|
3) AV, BAIIl, C-11, D

4) A-IIl, B, C-1, D-1V

Options :

87827084221. 1
87827084222. 2
87827084223.3

87827084224. 4

Question Number : 121 Question Id : 87827021286 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

LISTI LISTI
A i L2 (48 ) » K1 48
U}J a&fﬂb
B e I
C s fu m i gl i
A o | i

Choose the correct answer from the options given below:
1) A-|, B-II, C-III, D-IV
2) Al, BN, C-IV, D-|
3) AV, BAIIl, C-11, D

4) A-IIl, B, C-1, D-1V

Options :

87827084221. 1
87827084222. 2
87827084223.3

87827084224. 4

Question Number : 122 Question Id : 87827021287 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

LTI ST
A S sl (Ru
. 2 g ll 3 () )t
C e Il Ay
D e IV WS

Choose the correct answer from the options given below:
1) AV, B-l, CHI, D-|
2) A-ll, B-1I, C-1, D-IV
3) AN, B+, C-III, DIV

4) A-1, B-11, C-1V, D-li

Options :

87827084225. 1
87827084226. 2
87827084227.3

87827084228. 4

Question Number : 122 Question Id : 87827021287 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

LTI ST
A S sl (Ru
. 2 g ll 3 () )t
C e Il Ay
D e IV WS

Choose the correct answer from the options given below:
1) AV, B-l, CHI, D-|
2) A-ll, B-1I, C-1, D-IV
3) AN, B+, C-III, DIV

4) A-1, B-11, C-1V, D-li

Options :

87827084225. 1
87827084226. 2
87827084227.3

87827084228. 4

Question Number : 123 Question Id : 87827021288 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

e LISTII
A Sk i pai
4 G316 dgena (ol
B Al i
C Sl Il sl i3
D s ’ —_—

Choose the correct answer from the options given below:
1) A, B-Ill, C-V, D-Il
2) A-Il, B-11, C-IV, D-|
3) A, B-1, C-I1, DIV

4) A-1, B-11, C-1V, D-1i

Options :

87827084229. 1
87827084230. 2
87827084231.3

87827084232. 4

Question Number : 123 Question Id : 87827021288 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

e LISTII
A Sk i pai
4 G316 dgena (ol
B Al i
C Sl Il sl i3
D s ’ —_—

Choose the correct answer from the options given below:
1) A, B-Ill, C-V, D-Il
2) A-Il, B-11, C-IV, D-|
3) A, B-1, C-I1, DIV

4) A-1, B-11, C-1V, D-1i

Options :

87827084229. 1
87827084230. 2
87827084231.3

87827084232. 4

Question Number : 124 Question Id : 87827021289 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

LIST] LISTI
A h{en il
. ) e
B ALz I
C o) e m o e (g
D g v e A S e s

Choose the correct answer from the options given below:
1) AN, B-IIl, C-1V, D
2) A-Il, BV, C-II, D
3) A-IV, B-1, C-II, D-II

4) A, B-lll, C-1l, D-V

Options :

87827084233. 1
87827084234. 2
87827084235. 3

87827084236. 4

Question Number : 124 Question Id : 87827021289 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

LIST] LISTI
A h{en il
. ) e
B ALz I
C o) e m o e (g
D g v e A S e s

Choose the correct answer from the options given below:
1) AN, B-IIl, C-1V, D
2) A-Il, BV, C-II, D
3) A-IV, B-1, C-II, D-II

4) A, B-lll, C-1l, D-V

Options :

87827084233. 1
87827084234. 2
87827084235. 3

87827084236. 4

Question Number : 125 Question Id : 87827021290 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

LISTI LISTI

‘. (s (e
0 PAPLVY I S )Y dee
D iy Iy o S e 8 e

Choose the correct answer from the options given below:
1) A-IV, B, C-1I, D-lI
2) A-ll, BV, G-, D-II
3) A, B-1I, C-1II, DV

4) A-11, B-II, C-IV, D

Options :

87827084237. 1
87827084238. 2
87827084239. 3
87827084240. 4

Question Number : 125 Question Id : 87827021290 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

LISTI LISTI

‘. (s (e
0 PAPLVY I S )Y dee
D iy Iy o S e 8 e

Choose the correct answer from the options given below:
1) A-IV, B, C-1I, D-lI
2) A-ll, BV, G-, D-II
3) A, B-1I, C-1II, DV

4) A-11, B-II, C-IV, D

Options :

87827084237. 1
87827084238. 2
87827084239. 3
87827084240. 4

Question Number : 126 Question Id : 87827021291 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

e )5 (A

(
e ol (C

UWyds (D

UL :

Choose the correct answer from the options given below:
1) ABCDE
) 8,D,CEA
3)B,CADE

4)D,EACB
Options :
87827084241. 1
87827084242. 2
87827084243. 3

87827084244. 4

Question Number : 126 Question Id : 87827021291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

= )5 (A

(
e ol (C

S B

Choose the correct answer from the options given below:
1)ABCD,E
)B,D,C,EA
3)B,CADE

4)D,EACB
Options :
87827084241. 1
87827084242, 2
87827084243. 3

87827084244. 4

Question Number : 127 Question Id : 87827021292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically ¢ s alli &€
aal 350 (A

URMEPN

Jrllgpa(C

Osine 5 (D

Syom (€

Choose the correct answer from the options given below:
1) CB,D,EA
))BADEC
3)DBACE
4) ADCEB

Options:

87827084245. 1
87827084246. 2
87827084247.3

87827084248. 4

Question Number : 127 Question Id : 87827021292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically ¢ s alli &€
aal 350 (A

URMEPN

Jrllgpa(C

Osine 5 (D

Syom (€

Choose the correct answer from the options given below:
1) CB,D,EA
))BADEC
3)DBACE
4) ADCEB

Options:

87827084245. 1
87827084246. 2
87827084247.3

87827084248. 4

Question Number : 128 Question Id : 87827021293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically the following poetic collections of 2 sy 52

3 et e 4yl (B

Choose the correct answer from the options given below:
1) ABCDSE
)8,CDEA
3)CABED
4)EDB,CA

Options :

87827084249. 1
87827084250. 2
87827084251. 3
87827084252. 4

Question Number : 128 Question Id : 87827021293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically the following poetic collections of 2 sy 52

3 et e 4yl (B

Choose the correct answer from the options given below:
1) ABCDSE
)8,CDEA
3)CABED
4)EDB,CA

Options :

87827084249. 1
87827084250. 2
87827084251. 3
87827084252. 4

Question Number : 129 Question Id : 87827021294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

Choose the correct answer from the options given below:
1) ABCDE
))BCEAD
3)CD,EBA
4)EDABC

Options:

87827084253. 1
87827084254. 2
87827084255. 3

87827084256. 4

Question Number : 129 Question Id : 87827021294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

Choose the correct answer from the options given below:
1) ABCDE
))BCEAD
3)CD,EBA
4)EDABC

Options:

87827084253. 1
87827084254. 2
87827084255. 3

87827084256. 4

Question Number : 130 Question Id : 87827021295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arranges 2t ¢l jafin systematic manner

E
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Choose the correct answer from the options given below:
1)ADBEC
) B,CDEA
3)D,BACE

4) CD,AEB
Options:
87827084257. 1
87827084258. 2
87827084259. 3

87827084260. 4

Question Number : 130 Question Id : 87827021295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arranges 2t ¢l jafin systematic manner

E

7 (A

o
oo

*A(
L g (€

Choose the correct answer from the options given below:
1)ADBEC
) B,CDEA
3)D,BACE

4) CD,AEB
Options:
87827084257. 1
87827084258. 2
87827084259. 3

87827084260. 4

Question Number : 131 Question Id : 87827021296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

583 (A

S8 (B

W8 (C

gt (D

i (B

Choose the correct answer from the options given below:

1)BACDE
))CD,EAB
3)D,ECBA

4)ED,CBA
Options:
87827084261. 1
87827084262. 2
87827084263. 3
87827084264. 4

Question Number : 131 Question Id : 87827021296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

583 (A

S8 (B

W8 (C

gt (D

i (B

Choose the correct answer from the options given below:

1)BACDE
))CD,EAB
3)D,ECBA

4)ED,CBA
Options:
87827084261. 1
87827084262. 2
87827084263. 3
87827084264. 4

Question Number : 132 Question Id : 87827021297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

syl (A

W3l § K3 (B

o 2 alinli (C

w545 (0

e

Choose the correct answer from the options given below:

1) ABC,DE
) B,CDEA
3)CBADE

4)DECBA

Options:

87827084265. 1
87827084266. 2
87827084267.3

87827084268. 4

Question Number : 132 Question Id : 87827021297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

syl (A

W3l § K3 (B

o 2 alinli (C

w545 (0

e

Choose the correct answer from the options given below:

1) ABC,DE
) B,CDEA
3)CBADE

4)DECBA

Options:

87827084265. 1
87827084266. 2
87827084267.3

87827084268. 4

Question Number : 133 Question Id : 87827021298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

sk (A

Sy Sy (B

Shosas(C

st dy lbis (D

RN

Choose the correct answer from the options given below:

1)EDC,BA
))D,CBAE
3)CBAED

4)BACDE
Options:
87827084269. 1
87827084270. 2
87827084271.3

87827084272. 4

Question Number : 133 Question Id : 87827021298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

sk (A

Sy Sy (B

Shosas(C

st dy lbis (D

RN

Choose the correct answer from the options given below:

1)EDC,BA
))D,CBAE
3)CBAED

4)BACDE
Options:
87827084269. 1
87827084270. 2
87827084271.3

87827084272. 4

Question Number : 134 Question Id : 87827021299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
S 88 Cu s (A
e 83 3 Cu s (B
b s cufa (C

Liali 5 Cufis (D

a5l 4 Cu s (B

Choose the correct answer from the options given below:
1)ED,C,BA
))AD,CBE
3)BACDE
4) CBAED

Options:

87827084273. 1
87827084274. 2
87827084275. 3

87827084276. 4

Question Number : 134 Question Id : 87827021299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
S 88 Cu s (A
e 83 3 Cu s (B
b s cufa (C

Liali 5 Cufis (D

a5l 4 Cu s (B

Choose the correct answer from the options given below:
1)ED,C,BA
))AD,CBE
3)BACDE
4) CBAED

Options:

87827084273. 1
87827084274. 2
87827084275. 3

87827084276. 4

Question Number : 135 Question Id : 87827021300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

e 1) e (A

sl K (B
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e

Choose the correct answer from the options given below:

1)DECBA
))ED,CBA
3)ABCDE

4)BACDE
Options:
87827084277. 1
87827084278. 2
87827084279. 3

87827084280. 4

Question Number : 135 Question Id : 87827021300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

e 1) e (A

sl K (B

Mol (C

S s (D

e

Choose the correct answer from the options given below:

1)DECBA
))ED,CBA
3)ABCDE

4)BACDE
Options:
87827084277. 1
87827084278. 2
87827084279. 3

87827084280. 4

Question Number : 136 Question Id : 87827021301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I; Cual 7 gl (gl 1 9 sl Bl )

Statement |1:Cal i (5543 (6 o (s el [y ke

In the light of above statements, choose the correct answer from the options given below

1. Both statement | and Statement Il are true
2. Both statement | and Statement Il are false
3, Statement | is true but Statement Il is false

4, Statement | is false but statement Il is true
Options:
87827084281 1
87827084282. 2
87827084283. 3

87827084284. 4

Question Number : 136 Question Id : 87827021301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I; Cual 7 gl (gl 1 9 sl Bl )

Statement |1:Cal i (5543 (6 o (s el [y ke

In the light of above statements, choose the correct answer from the options given below

1. Both statement | and Statement Il are true
2. Both statement | and Statement Il are false
3, Statement | is true but Statement Il is false

4, Statement | is false but statement Il is true
Options:
87827084281 1
87827084282. 2
87827084283. 3

87827084284. 4

Question Number : 137 Question Id : 87827021302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: Cul (A1 )5 e plall 20

Statement II:ul (g ) gl ol (s dene pall o Cieal ﬁu' &

In the light of above statements, choose the correct answer from the options given below

1. Both statement | and Statement |l are true
2. Both statement | and Statement Il are false
3. Statement | is true but Statement Il is false

4, Statement | is false but statement Il is true
Options:
87827084285. 1
87827084286. 2
87827084287. 3
87827084288. 4

Question Number : 137 Question Id : 87827021302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: Cul (A1 )5 e plall 20

Statement II:ul (g ) gl ol (s dene pall o Cieal ﬁu' &

In the light of above statements, choose the correct answer from the options given below

1. Both statement | and Statement |l are true
2. Both statement | and Statement Il are false
3. Statement | is true but Statement Il is false

4, Statement | is false but statement Il is true
Options:
87827084285. 1
87827084286. 2
87827084287. 3
87827084288. 4

Question Number : 138 Question Id : 87827021303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Cul (3 all Bla sl Bla 334

Statement I[:caigi |y s GUAI 858 Bel g s e

In the light of above statements, choose the correct answer from the options given below

1. Both statement | and Statement |l are true
2. Both statement | and Statement Il are false
3. Statement | is true but Statement Il is false

4, Statement | is false but statement Il is true
Options:
87827084289. 1
87827084290. 2
87827084291. 3

87827084292. 4

Question Number : 138 Question Id : 87827021303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Cul (3 all Bla sl Bla 334

Statement I[:caigi |y s GUAI 858 Bel g s e

In the light of above statements, choose the correct answer from the options given below

1. Both statement | and Statement |l are true
2. Both statement | and Statement Il are false
3. Statement | is true but Statement Il is false

4, Statement | is false but statement Il is true
Options:
87827084289. 1
87827084290. 2
87827084291. 3

87827084292. 4

Question Number : 139 Question Id : 87827021304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: 20 7 ) e tic 7y s

Statement l:Cul i ) (AL j 5y i e rl o puo

In the light of above statements, choose the correct answer from the options given below

1. Both statement | and Statement |l are true
2. Both statement | and Statement Il are false
3. Statement | is true but Statement Il is false

4, Statement | is false but statement Il is true
Options:
87827084293. 1
87827084294, 2
87827084295. 3
87827084296. 4

Question Number : 139 Question Id : 87827021304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: 20 7 ) e tic 7y s

Statement l:Cul i ) (AL j 5y i e rl o puo

In the light of above statements, choose the correct answer from the options given below

1. Both statement | and Statement |l are true
2. Both statement | and Statement Il are false
3. Statement | is true but Statement Il is false

4, Statement | is false but statement Il is true
Options:
87827084293. 1
87827084294, 2
87827084295. 3
87827084296. 4

Question Number : 140 Question Id : 87827021305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Cul g | ) gl gl st oty gl gl

Statement [1:Cul i gy joldlae SLe | ayl gl 4diadld

In the light of above statements, choose the correct answer from the options given below

1. Both statement | and Statement |l are true
2. Both statement | and Statement Il are false
3. Statement | is true but Statement Il is false

4, Statement | is false but statement Il is true
Options:
87827084297. 1
87827084298. 2
87827084299. 3
87827084300. 4

Question Number : 140 Question Id : 87827021305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I; ud g |y fuf fl e ol gl lana

Statement [1:Cul i gy joldlae SLe | ayl gl 4diadld

In the light of above statements, choose the correct answer from the options given below

1. Both statement | and Statement |l are true
2. Both statement | and Statement Il are false
3. Statement | is true but Statement Il is false

4, Statement | is false but statement Il is true
Options:
87827084297. 1
87827084298. 2
87827084299. 3
87827084300. 4

Sub-Section Number : 2
Sub-Section Id : 878270945
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827021306 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



i ety & Sl gl a4 gl ol Bl g s Sk i 6 e S
S35 3 G () S0 gl g 2y o e gy sl (LR i iy Co
Jan g ol plads Ko 5 gt 51 el ol lly 5 a2 1133 10527 o L K4S
e T 1 ) 8 g e i e gl 6 0 B
Al ool Gl plag e S pen 3 e OUT il y i ¢ gt s g g plad ;Uﬁgﬁﬁsm
|l g S i el gl iy S Syl g 41y 2 8 gyl 351 6
2y pa o i e 0 Sl gy el g 10y 4l gl gty g I 1) g oL 0l
4 Gy ) "y it g ol el Ay iy s Mt € Gl i sl el g Clald
4 5t 1 Sl € i o g 4l e " a4y 4 (i e K
Jg s g e g 0o 2 08 )l e ol f gl g asiaa i o g s
Rt Gl 0 nd ) i sl ) ol ol Bl il € 5 T ol ol 0
(e (o (e (bl 553 e sl Lo (i g gt () 0y el
O gl 8 gl o e ) (e oup ol () Byt 08 s S 5 el po

Ay

Sub questions

Question Number : 141 Question Id : 87827021307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
025048 Ol salis dge (gl yu e oy p2ie 1 (S
S 9= sula (1
den e cpaleley (2
S o) (3

s R dilve (4
Options :
87827084301. 1
87827084302. 2
87827084303. 3

87827084304. 4



Question Number : 142 Question Id : 87827021308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
?“ # ¥ w+ hjduw-ajVI RTII:ISE“ w-.gj
Sy Flad (1
(s den| (2
S5 (<28 (3
s Sl (4
Options :
87827084305. 1
87827084306. 2

87827084307. 3
87827084308. 4

Question Number : 143 Question Id : 87827021309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fagod S aan | ol yeld HIS4a gl pold laka
GUS A5 el e (1
Olrs ol gl n (2
) Eali gl (3

pl 815 pladl ol 2 (4
Options :

878270843009. 1



87827084310. 2
87827084311. 3

87827084312. 4

Question Number : 144 Question Id : 87827021310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
TS alai 454 b Gyl 1) deshaie alaS (5950 (8 )
4alialiaig (1

i cilalic (2

4l Jh 3k (3
el (4
Options :
87827084313. 1
87827084314. 2

87827084315. 3

87827084316. 4

Question Number : 145 Question Id : 87827021311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



£ 50 s g 15 yile 8 alaS L )3 L dene (palile
el (3

oL i (4
Options:
87827084317. 1
87827084318. 2
87827084319.3
87827084320. 4

Question Id : 87827021306 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



i ety & Sl gl a4 gl ol Bl g s Sk i 6 e S
S35 3 G () S0 gl g 2y o e gy sl (LR i iy Co
Jan g ol plads Ko 5 gt 51 el ol lly 5 a2 1133 10527 o L K4S
e T 1 ) 8 g e i e gl 6 0 B
Al ool Gl plag e S pen 3 e OUT il y i ¢ gt s g g plad ;Uﬁgﬁﬁsm
|l g S i el gl iy S Syl g 41y 2 8 gyl 351 6
2y pa o i e 0 Sl gy el g 10y 4l gl gty g I 1) g oL 0l
4 Gy ) "y it g ol el Ay iy s Mt € Gl i sl el g Clald
4 5t 1 Sl € i o g 4l e " a4y 4 (i e K
Jg s g e g 0o 2 08 )l e ol f gl g asiaa i o g s
Rt Gl 0 nd ) i sl ) ol ol Bl il € 5 T ol ol 0
(e (o (e (bl 553 e sl Lo (i g gt () 0y el
O gl 8 gl o e ) (e oup ol () Byt 08 s S 5 el po

Ay

Sub questions

Question Number : 141 Question Id : 87827021307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
025048 Ol salis dge (gl yu e oy p2ie 1 (S
S 9= sula (1
den e cpaleley (2
S o) (3

s R dilve (4
Options :
87827084301. 1
87827084302. 2
87827084303. 3

87827084304. 4



Question Number : 142 Question Id : 87827021308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
?“ # ¥ w+ hjduw-ajVI RTII:ISE“ w-.gj
Sy Flad (1
(s den| (2
S5 (<28 (3
s Sl (4
Options :
87827084305. 1
87827084306. 2

87827084307. 3
87827084308. 4

Question Number : 143 Question Id : 87827021309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fagod S aan | ol yeld HIS4a gl pold laka
GUS A5 el e (1
Olrs ol gl n (2
) Eali gl (3

pl 815 pladl ol 2 (4
Options :

878270843009. 1



87827084310. 2
87827084311. 3

87827084312. 4

Question Number : 144 Question Id : 87827021310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
TS alai 454 b Gyl 1) deshaie alaS (5950 (8 )
4alialiaig (1

i cilalic (2

4l Jh 3k (3
el (4
Options :
87827084313. 1
87827084314. 2

87827084315. 3

87827084316. 4

Question Number : 145 Question Id : 87827021311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



£ 50 s g 15 yile 8 alaS L )3 L dene (palile
el (3

oL i (4
Options:
87827084317. 1
87827084318. 2
87827084319.3
87827084320. 4

Sub-Section Number : 3
Sub-Section Id : 878270946
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827021312 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827021313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
£330 QLS 5l e Hy Sy RS
42550 (1)
“Qs)n % (2)
433 0 ke (3)

Q) x el (4)
Options :
87827084321. 1
87827084322. 2
87827084323. 3

87827084324. 4

Question Number : 147 Question Id : 87827021314 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

faiidily (alad Jadi ol Liang )y Hh alaal 5 5L
=l (1)

s sl (2)

&34 (3)

S8 (4)
Options :
87827084325. 1
87827084326. 2
87827084327. 3

87827084328. 4

Question Number : 148 Question Id : 87827021315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

CATiBly (olad Cande alaS Ay dyg y jale (liiadin
o (1)
s (2)
culia 55 (3)
ptal (4)
Options :
87827084329. 1

87827084330. 2

87827084331. 3



87827084332. 4

Question Number : 149 Question Id : 87827021316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Faia gl g b ale (168 4y |y g0 (Sl dia g 5 e 5 5
Sl s (1

(Sl g (

(Sl gt (
(

L.“Lmd,

2

)
)
3)
)
Options :

87827084333. 1

87827084334. 2

87827084335. 3

87827084336. 4

Question Number : 150 Question Id : 87827021317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fagpaSaay)n
ok e (1)
ook plae (2)
ook Ol 3 (3)

W eriia (4)

Options:



87827084337. 1
87827084338. 2
87827084339. 3

87827084340. 4

Question Id : 87827021312 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827021313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



0250 QL Sl I e S RS
4352 (1)

500 0% (2)

“a3) 0 1k (3)

L) s (4)
Options:
87827084321. 1
87827084322. 2
87827084323.3
87827084324. 4

Question Number : 147 Question Id : 87827021314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Catilily ol Jadi aloS Lidag 3y Haalaal 56l
s (2)

&3k (3)
S sWS (4)

Options :

87827084325. 1

87827084326. 2

87827084327. 3
87827084328. 4

Question Number : 148 Question Id : 87827021315 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
MG (Bl Casde alaS Ay g5 3 pale lindiy
o= (1)
s (2)
a5 (3)
el (1)
Options :
87827084329. 1
87827084330. 2

87827084331. 3
87827084332. 4

Question Number : 149 Question Id : 87827021316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

® ® * - PRl ) » - z ® =
T2 e ol b ale (il 3 4 |y dg e (Sl i gy 0 ke 5 Y
ﬁu Culis (1

u_ﬂm

2

(1)
: (2)
s (3)
Sl cia (4)
Options :

87827084333. 1

87827084334. 2

87827084335. 3



87827084336. 4

Question Number : 150 Question Id : 87827021317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

LgaSa)n
ok b (1)
ok pla (2)
Ok Ul G (3)

Wi (4)
Options :
87827084337. 1
87827084338. 2
87827084339. 3

87827084340. 4



